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� ���!��� � �  ,� 1 �"	q�� � 7 ����� q�� � � � 7 � � 3 	 3 � � ����	�� 193 � � � ��	
	#�������"	 3 � 1 �"	#� � � ' � 3 	#��0W���
	�� ( �.	 � $-��	 1�q�� ��$-����	K�� � 791�q���� �
 ,� � 3 	#� � 	#��� 7 ���� �� 3 	 1 � � 7 ��� � ����������	K 7�� � � � � � � 0W	 3 ������������� 3���� ��� � ����� 77Ig� 	���	 � ��� 7 �
' � � � � 0 1�+ $-��������	 3 � 1 �"	#�a���.	 � 	 18791 � � � � � 1�qr� ��$%���"	· ,� � 3�7 ��� 3�� ��������������� 1 �"	#� 3 $ ��� 1 � 183 ��� 1 �
� � ���� � 7 � ��� � 1 ��	 ��� 3 ��	 1 ��� ��� Breco
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;5 2,+��9< � ' ���; �� 3 	 1 � � 7 ���'����$%$%� 7 ��� π0 i
K0

S

i
D0 i D+ i D∗0 i D∗+ ���"	 � ��� 7 � 3�� � � 3 �p����	 � 3 � 797 ��� � � ��� � 1 ��	 ��� 3 ��	 1 �����p	 3�+ � 1 �3o �2351 � � 3 ����f 7 �

3�� ��� 7�� 	 1 ��� �
01 �2351 $%���"	�� 7 �%� � 3(7 � � 3 $-�����
� �·| � 3 ��03��$- 7 � i�7 � 3
� ��� 7�� 	 1 ��� ��03 �2351 $-����	�� 7 �%� � 3(7 �
$-�����
� ��� π0 ���
	 � � 77I � 3�� 3 � � � 6 MeV/c2

i � 7 � 3 � qr� �º��� 7 � 3�� � � 3 ����	 � 3 � 797 �%���.	 � � 77I � 3
� 3 � � �
8 eV ��� �´ ,� � 	 � �����'������� 1����23 � 3K� �����K���d�ª��� q�� �-� q2 = M2 ��� q ���
	 7 � q�� � � 3�1 ��' ���
	#� �43K� � 7 � �� 3 	 1 � � 7 ����	 M ���%$=������� � ' �k������	 3 � 1 ��	#��� � 1 ' ���"	#�d ,� � 	p� 7 � 3 � < 	 3 �;�� � 791�q���� �' ,� �43 ��� 7 � � 7 � 3 7 �q�� � � 3�1 ��' ���
	#� �43 q ≡ (E, px, py, pz)

�

E2 − p2
x − p2

y − p2
z

M2
− 1 = 0

: � �)� <

3 ���3� 7 �Cs 2�4�5>698�
¹592,+��.iG� �3�Do{� 1 � 7 ���² �� 3 	 1 � � 7 ��� π0 i K0
S

i
D0 i D+ i D∗0 i D∗+ � �27 ����	 1 ����� � ���[ �� 3²� ���

��� �  � 3 �&� � 3 7 � � 3 �¹$-�����
��� i ���
	�	��&�����"	 3 � 1 �"	#�E���.	D�� � 781�q���� �C ,� �43 ��$ � 791 � 3 � 3&7 � � 3[qr� � � 351 �D' ����	#� � 3 �
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0 � 3 ���������
	 3�� �
	 1 ��� ��� Breco
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p592,+1� ���
	p��mn����	 �3� �*f% �� 3 	 193&�JI»� ���; 3�� � �27 ����	 1 ����JI»�6'�� ����$%���"	#�?������	��������"	?�´ 351 � 351¹� ��$ � �
��� B 3 ���������.	 3��41 	 � ����� � � � ���;$%� � ��� � 	 ��� 1�� � i � ���7 ����	 1 ���3� � � ' ��� � ���?��� �  � 3 ��� 7 � 3
� ��� : �����*��� �  �43 ���*�
� 3 ����	 1 � � 1�q���� ���?� 1 � � �����
�#� 193 � < �¹| � 1 � � �
���3����$*e 7 � � �W��� �  � 3 ���%$ 1 � 1 $%� 7 ���*���
	 � 	#��e 7819i ���l �� 3 	 1 � �4791 � 3 � � 3 7 ���h$=��������� � ��� 3�� ���������������
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������	���(' � 7 �� � � ���H� �41 ' ���"	 7 �h �43 ��	 �-3 � q�� 1 �
� i ����� 1�� ��� 7J� � B i�� ����� 77Ig� ��������	 18797 ��� tag �� � � 	#��� 7 ����	 3 �������d����� 3���� ��� � 	 19781 � � ��� � ����� 7 � 3 �������3�
	 3
� ��	 1 ��� �����"	 � ���'	 3 ������� � vJu[¸ i ��� � o

$%���"	 1 ����������	 3 � 183 � � 0 �� 3 ��$ 1�+23 �= �� 3 	 1 � � �º����	�	��N�
���
	 1 ��� ��� � 351 	 7 � 3 ���������
	 3�� �
	 1 ��� � ��� 3
� ��� �
�����3����� 1 �"	#� 3 $ ��� 1 � 183 ��� 1 ��� � ��� � � 7 � �3� � 1 ��	 ��� 3 ��	 1 ��� ���

Breco
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B7��41 � $ < $%�����.	 �3� 	�� 19787�� � � 0 �d$%��� �43 � � ���F �� 3 ��$ + 	 3 ��� g− ��	 g0
���
	 ���6' � 7 �� 3 � � � ����� 7 �'	 3 � 1 � 1�+ $%�

 �� 3 	 1 � � � � � � i �����"	 � ����� � � 7 ��� 3�� � � 7 	���	��!� � 3 7 ���!����$*e 3 ���p	#��	�� � 0 � � Breco
����$% 7�+ 	#��$%����	 3 � �

�������
	 3�� 1 	#� �

�K�����.� � � � ! �p�"� � $p� ��� ! � �p�Y� �)�a� ��� � $)% �Y�	�¬�F�1� ��
 � ��� � � � �Y�

 &�� &���&�� � �r���[������� ­ ���������r�

π0

0 ���p �����	������H�����"	 � ��� q�� ��$-����	 � 	�� � �)� � �K ,� ��! � � ! ���������
	 !�� �
	"����� � ��� π0 → γγ
: � � � �$# � ������ �����"	 ���%! ��	"������� ��� π0 } � ��� < � t1� � ���&�����[ 3����	#����� �JI»� ��� !�� ���E� �  �'! ��� ��! �Cf 30 MeV �����"	¹�����3��� !)(�� � �

3 � � 0? �����	#�����·�
����	[����$*e���� � �² ,� ��! o{� ! $%� !�� �?�ª��� � � � ��	 π0 ���?� �  � ,���#����	 q��JI � ���²�����"	·	#� � � � � � 0
���
� � � ���  ,�%����	 �JI ����	�� ! ����	������ � 0 �*$=������� ��� π0 ���.	 Mπ0 ≈ 134.98 MeV/c2

i � � !�� ���%� � 	"�����º� ��! � �
$-�����
�*��� ( � ! ������	�� � ��� π0 ���
	 i²� �����,+.-�+/-10 i��JI ��� ( � ! ��� 6.1 MeV/c2 � 0 ���;����� � � � ��	#� � �-$-���
���� ���3�2���-o{����3
	 ! � 115 < mγγ < 150 MeV/c2 �
����	 ! ��	���� � � � 0 �=o{����3
	 ! �h���.	d��� ( $ � 	 ! � q�� �h��� ! ���
��� � ���4� � � π0  !�� ������	#� � ��� qr� � � �d����� � � � ���5�����3���;fhe����
���d$=������� �3� �;� � 0W ,� ! 	#��� �JIg� ��� !
� ��� �

0 � �6� ����! � � � ��� �����3�7��� �� ,���
	 ! �¶����$-�����
� � ��� π0  ! � ��� ��	 � ����� � ��� ��� ������	 ���%! ��	"���������
τ+ → ρ+(→ π0π+)ντ

�

)2 (GeV/cγγm
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�� � � � ��� � �r����¡r�E� ­���­�� �r�*� � �G ��1�
ρ+ � ρ0 ���

a+
1

� ���H �� ! 	"��� � ������������	 � ��� !�� ���������������?��� !�� ���'� 150 MeV  ,� ��! ����� ρ i ����	 ! � 250 �
	 600 MeV ,� ��! ��� a1
�
	 � � � ���d������	 ! �4���"	#� � �d$-���
���'� I ���.	 � �����d�� 3 �� � qr�3� ��� ��! �����K�ª��� � � � ��	#� �

0 ���N�ª��� � � � ��	#� ρ+ :�! ���
 � ρ0 < �����"	 ! ���������.	 !�� �)	#�º��� ����$*e��������"	 � � π0 :�! ���
 � π− < ��	 � �
π+ � t1� � ��� �����?�ª��� � � � ��	#� � ����� �����;o{����3
	 ! ���h����$-�����
��� |Mπ0π+ −MPDG

ρ+ | < 150 MeV/c2 ��	
|Mπ−π+ −MPDG

ρ0 | < 160 MeV/c2 �����"	d�������
� !5(�� � � MPDG
ρ+

��	 MPDG
ρ0

�����"	 ! ���
 ,���
	"� ( ��$-����	 � �
$-�����
�h$%� ( ������� ��� ρ+ ��	 ��� ρ0 � 0 �=o{����3
	 ! �h���¶$-�����
�h� ��! ��� ρ+ :�! ���� � ρ0 < �3�h��������� !5( � q�� �
~ � # :�! ���� � ~�� # <h� ��� ρ !
� �'��� �D| � ��! ����� ρ0 i �� !�+ �*���¶�����"	 ! �4���"	#� ���	( � ! 	#��0 iF� ������� �  ��! �
� ��! ���� ! ��e���e���� � 	 �=� �N��� ( � ! 	#��0l���
	 !�� � � ��� � ��� pvert > 0.1 % �a| � ��! ����� ρ+ i � I»� �3� !�� ��� ��� π0� �%�)	 3�	 ! ��� �  �E! ��� ��! �'f 300 MeV ��	&����� ��$% � ��������� � ���3�9��� !�� o �'! ����	"���E� ��� Υ (4S) � �  �'! ��� ��! �df
400 MeV/c � � �¶��mn��	 i f=e������
� � ��� !�� ��� ���?e !�� ��	 � �?o{��� � ���
	2��$- ,� ! 	�����	!f=�ª� � �
� � � ��� �%! ��� � �q�� ���"	"��	 �;� �; �����	������p$%� � � ! ���������.	 !
� ��	�� � ���3�?��� ��� 	#���
	#� ��! � 0aI»� ��� !�� ��� � ���p ��3��	#���3� � �;����� π0� �%�)	 �zI �4��� �)� ��! �93
	 ! �'� �  �E! ��� ��! �;f 50 MeV

� �����D��� !�� o �'! ����	"���E� �3� ����e,� ! ��	#�%� ! � �
0 � a+

1
���.	 ! ���������
	 !�� �)	 � ����� � Ig� 	���	 � ���4� ρ0π+ � � � � �D������ �������� � �2� I»� 	#��	 � ���4� � �4� ( ���"	H� ( �%� !� ���?��$- � ���5�����%� �  �'! ��� ��! ��f 200 MeV/c

i �����'�J� � � � � !
����� � ! �����;����$*e�������	#�4� ! � � 3 ����� ���H$ 3�$-�
��e � ���
	"�)o iz� �3�k��� �  ��! �k� ��! � �= ! ��e���e�� � � 	 �;���7( � ! 	#��0¶���.	;�� � ���� q���� �º� pvert > 0.1 # � � � � � i ���
o{����3�	 ! �d����$-�����
�'� ��! ��� a+

1
���
	;� 1.0 < m(π−π+)π+ < 1.6 GeV/c2 �


�� � � � � � � �r�
K0

S

0 ��� K0
S

i&� 	"��� ��� � � � ����� ����s 2�4�57698 
´592,+��  ,� ��! ! �������3�
	 !
� � ! � ����� ��� �5����	 ���4! ��	"������� D0 →
K0

Sπ
+π− ��	 D+ → K0

Sπ
+ i ������	 ! ���������
	 !�� �)	#�&f? �� ! 	"� !F� �p	 ! ������� � v � � �N�
mz�
	 i ���H	#��$- 3� � � ( ���� �������& �� ! 	"��� � �����C���
	K���
�����2����� �W: cτK0

S
= 2.68 cm

< �E�������C ,� ��( ���"	 � �������
� ��� �5����	 ���%! � ! ���%��� �3�
 ,�%����	 �JI ���"	#� ! ����	������ � 0 ��� K0

S

�����"	 ! ���������
	 !�� �)	#� � �����9� Ig� 	���	 π+π− �)� ������� �  ��! �'� ��! ��� ( � ! 	��
0
π+π− ���.	p�� 3 �� � qr�3� � : pvert > 0.1 %

< �
0 � � ���
	����3��� � � ( �4� � ���3�?���d ������ x− y

: ����	 ! � ���d ,�%����	 �JI ���"	#� ! ����	������´��	���� ( � ! 	#��0 ��� K0
S

<
� �%�)	 3�	 ! ��� �  �'! ��� ��! �Kf 2 mm � � � � �*����$-���
���D��� ( � ! � ����	#� �3� �ª��� � � � ��	 � �%��	 (��'! � � � ! � |Mπ+π− −
MPDG

K0
S

| < 15 MeV/c2 ��� MPDG
K0

S

���.	 � �´$%� ( �������-$-��� � � � ��� � �����´$-������� ��� K0
S

:
MPDG

K0
S

=

497.6 MeV/c2 } � �G� �


�� � � � � 
 
 � � � ­ �'����� � ����� ­�� �1���/¡r�E� ­ �
D

0 ���C$ � �
����� D :
D0 � � D+ < �����"	 ! ���������.	 !
� ��	�� � ����� �����E$%� � ���p� D0 → K− π+ i D0 → K−

π+ π− π+ i D0 → K− π+ π0 i D0 → K0
S π

+ π− i D+ → K− π+ π+ i D+ → K0
S π

+ �
0 � ! � � � � �h !�� � � ������	"����� i � I ��$% � ��������� p∗D � ���H$ � ������� D � ����� ��� !�� o �E! ����	����'� ��� Υ (4S)

� �%�)	
3�	 ! � � ���3�6���&o{����3�	 ! �H� 1.3 < p∗D < 2.5 GeV/c

i �����E�1� � � � � !������ � ! � ��������$*e ! � � �D�ª��� � � � ��	�� � �����
� �� !�� � � ������	"����� i ����	
	#�Fo{����3�	 ! �E� I ��mn���
	#�E ����&� I ���%�ª���'��	 � � ��! �����²$ � �����3� B !�� �E��� � 3 ���[��� �  ��! ���¹���
$-�����
� i�� ����� � ��� � ����� ��� � ��e���� � � � i ������	 ��� � ����$%���"	��� � �� � q���� ����� � 	�� ��!a� ����$=��������������$ ����� �����E�
MPDG

D0 = 1864.6 GeV/c2 ��	 MPDG
D+ = 1869.4 GeV/c2 �3| � ! ����$- �� ! �4������� i ���;$-�����
� M fit

D
��	 � �

!�� ���%� � 	"����� σfitD � �
� �.	 � ��� � ��� D ! ���������
	 !
� ��	�� � ����� ���ps 2�4�5>698�
F5 2,+
� ���
	 ��� �4����$%����	 � ���3� � � � �����
��� � ��e���� � � � � 0 ��� !
� ���4� � 	������3�&�
����	 �JI � � 	�����	�$%�E� ���)� ��! ��� qr� � �����3��$*e ! � � ��	 ! ������������� !���� �������.	



��� � � ���� ���	 ! � � ��� ���������.	 !�� ��	"����� � ���K �� ! 	"��� � �����

��$% ,� ! 	����"	 : ���k$%�E� ����� ��! � !�� ���%� � 	"�����´���.	p��e3	���� � � � ��������� ! �������3�
	 !
� ��	������ ��� $%� � � D0 → K−

π+ π− π+ <�i  �� ! ������	 ! �'�E�����!���.	 �����%! � ��� �' �� ! ���h !�� �
������� �JIg� � π0 � ���3� � Ig� 	���	 � ���4� �
	  !�+ �9� �; !
� � � ������	������ i1� ���B� � ����	�� � ����	"�����=$ ������$-�4�)�H� ��! �����G�����N����� !���� ���
� �N� �B� � ��� �����"	 � ��%! ��	"����� �3� D ���.	 ! � q�� ���
� i �
01���� 3	������wo>�4�)	#� � ����$-� � ��� � � ��� ������	 ���%! ��	"������� D0 → K0

S π
+ π−

��	 D+ → K0
S π

+ � � �
	�	#�,� � ���"	"� � �ª��	�������$ ������$-� ���'���.	 � ���3� � � � ��e���� � � � � � � � �7�����H$ � �
����� D������	K� � ������	"������� � � � ����� � ����o{����3
	 ! � � � ±3 σfitD
� � 	#� ��!&� � M fit

D
�

| � ��! ����� D0 → K− π+ π0 iY� ���d��� �  ��! ���;� �  3 �� � $-����	#�4� ! ���'������	;� � � � 	 � ��� � 0 �W$-���
������� �
( � ! � ����	#� π+π0 � �%��	 3
	 ! � � ����� � �3�-o{����3
	 ! � |mπ+π0 −MPDG

ρ+ | < 150 MeV/c2 ��� q�� �D ,� ! $-�
	
�JI � ��� $%����	#� ! � �% ��! ��	 �*� �,� I»� �������"	"��� �������������?� � ������	������3�����"	 qr� � ��� !�� ������������� (π+π0) ≡ ρ+ �
	 � � � � � ��$ ��� � � ! ������� ! � ���*e !
� ��	 � �*o{��� �Ji � �=��� �  ��! � |cos(θheli)| > 0.30 ���
	d�� � �� � q���� � � � �
	 (  ,� � �d��� �  ��! � � ��	�� �JI � � �����'��	 � ���
	H�
01 ���� q���� � � ����� � I 	 ������01� 	;� � � � � i¢� 	#����	 � ����� � ��� !
� ��� �
� � 	"�����k���-$=���
��� ��� D0 → K−π+π0 i � ����� �  ��! �H� ��! �#�d$-�����
�K���
	 ! ������� !�!�� �!f ±2 σfitD0→K−π+π0� � 	�� ��!

M
fit

D0→K−π+π0
�

� � � ��� � � D | !�� � � ������	������ M
fit

D

:
MeV/c2

<
σfitD

:
MeV/c2

< 4 � � K−

D0 → K− π+ ± 15 MeV/c2 1863.3 ± 0.1 7.0 ± 0.1  ���� �JI 4 � �
D0 → K− π+ π− π+ ± 15 MeV/c2 1863.5 ± 0.1 4.8 ± 0.1 � �)� v 	 � -����
D0 → K− π+ π0 ± 25 MeV/c2 1862.4 ± 0.1 11.7 ± 0.2 � �)� v 	 � -����
D0 → K0

S π
+ π− ± 20 MeV/c2 1864.3 ± 0.1 6.4 ± 0.1

�

D+ → K− π+ π+ ± 20 MeV/c2 1868.5 ± 0.1 5.5 ± 0.1 � �)� v 	 � -����
D+ → K0

S π
+ ± 20 MeV/c2 1869.9 ± 0.2 6.6 ± 0.2
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D∗

0 ��� D∗ �����"	 ! ���������
	 !�� �)	#� � ���3�$�����=$%� � ��� � D∗+ → D0π+ �
	 D∗0 → D0π0 q�� �p������	
����� � 	#��	#� � ��� � 0w !
� �
����	#����	2���?$%�%����� � �*e !�� �)	 � �*o{��� � �
	 �����p	#� � 0 � �*e ! ����������$%���"	2�����! �� � �� ��� (�� � � 0 � D0 ���
	������ ��� � ��� � � ������	������� !�� � ��� ���"	#� � 0 ���h �������� i ����� !
��� �*� � ��� � 	 ! ��� i ������	 � �
o>�4��e���� ��$% � ���������k��� ! � I ���
 ������ � �K ������
�H���
	D	 !
+ � !������ �)	 : � ��$-���
��� �JI»� � D∗ ���
	 �
� �.	#�K� �  �E! ��� ��! �
f ���d����$-$%� � ���E$=��������� �JI»� � D0 �
	 �zIg� �= ������ < � 3 ����� ��� !
� o �'! ���"	"���E� ��� Υ (4S)

i ��� ��! ��$- � ���5�����
���.	 � �����7� ��$ �)	 � ��f±� 0 < p∗π < 450 MeV/c � 0 ���N�ª��� � � � ��	�� � ����	 ��� � ��m �E! ������� � �w$-�����
�
∆MDπ ≡ MDπ −MD

���?���)	 � � � �����?� �ko{����3�	 ! �=� ∣∣∣∆MDπ − ∆M
fit

D∗

∣∣∣ < 3 σfitD∗
������	!�������
� !5(�� � i

��� ∆M
fit

D∗
��	 σfitD∗

�
����	 ! ���� ,����	�� ( ��$%����	 � � � ��m �E! ������� � �h$=���
���h��	2��� !�� ���%� � 	"�����w� �
� �
	 � ���'� ��!
� � � ���
	 ! ��e � 	������ � ���C�ª��� � � � ��	#� D∗ ! ���������.	 !�� ��	#� � ����� ����� � ����� � ��� � � ��� qr� ����	���	 � �E�����"	 � ����� � ���� ���3� ��� � ��e���� � ��� q�� � ��� � � q�� � ��� � ����$%���"	D�����Co{����3
	 ! ��� � �' !�� � � �����
	"����� �
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� � � � � � D∗ ∆MDπ
 !�� � � �����
	"����� : MeV/c2

<
∆M

fit

Dπ

:
MeV/c2

<
σfitD∗

:
MeV/c2

<
D∗0 → D0π0 � ���3� � � � ��� � � � � � � ��� ���)� �
D∗+ → D0π+ � � �3� � � � � ~ � � � ��� � � ~ � � ~��
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 � � ! �p�
Breco

0 ���F�ª��� � � � ��	#� Breco
�
����	 ! ���������
	 !�� �)	#� � ����� � � � 	���	�� � ��� � 0 � �)m �'! ���"	#� i ����� � � � ��� � �'$%� � ���� � ��� �����"	 ���%! ��	������ � ���K$ � �����3� B �

� B− → D(∗)0 π− i B− → D(∗)0 ρ−
i
B− → D(∗)0 a−1

� B0 → D(∗)+ π− iB0 → D(∗)+ ρ−
i
B0 → D(∗)+ a−1

0 ���C����� � � � ��	�� B �����"	C��e3	���� � �C���º����$*e��������"	 ����� !�� ��������������� D0 i D∗0 i D+ i ρ i a1

ir��� � ! �)	#���� ���3�2���º�
����	������¶ !�� � ��� ����	�� � 0 �h ������w����� !����h� ��� ��� ������	 ���%! ��	"������� B → D(∗)π− � �%�)	 q�� ���"	df
� � �J�#��	"���.o>�4� ! �B������� ! ��	 +E! ��� � �2� �*������	"����� ��	 ! ����� � v�¸ �


�� � ��� � � � � � � � �1��� ��� ­ � ��� � ­ � � � � µ � ­�� �1� � � �

� � � ��� � �w� � �
R2

0 � ( � ! � ��e���� R2
���
	 ����� ����������$-$%�9��� ! �� � ,� ! 	 ��� $-��$-����	 � � ��� 0 ��� �%�)o ! ��$ �JI � !���! � 2

:
H2

<
� � $%��$%���"	 � �2�¢�ª0 ��� �%�)o ! ��$ �JI � !���! � 0

:
H0
< } � ¼ �a�

R2 =
H2

H0

avec Hl =
∑

i,j

||−→p i|| ||−→p j||
E2
vis

Pl(cos θij)
: � � � <

��� Evis ���
	?� I»� ��� !�� ��� ( ������e���� � �����?� I»�'(�� �3��$%���"	 i −→p i
� I ��$% � ��������� � � ���% �� ! 	���� � ��� i i Pl ���d ,�%� ( �

����$%� � � 0 � � ��� ��! � �JI � !���! � l ��	 θij � I ��� � ���p���"	 ! �2����� � � � 0´ �� ! 	"��� � ����� i ��	 j �� ��� ��� ��� � ������	 �����?$=���
����� i �����������
� !)( ��	"����� � �$� I»� �3� !�� ��� � ��$k � ���5����� ��$% ,���
� qr� � H0 = 1 �| � ��!H� ��� �'(�� �3��$%���"	#�'� ( ����	 � ���;	#�� ,�%��� � ���df 2
� ��	�� i ����$-$%� ����� �'(�� ����$%����	#� e+e− → qq

: ���
q
��� ��� � ��� � � q�� � ! � u i d i s i c <�i H2 v 1

�JI ��� � I»� 	�� ��� 	 �'�3� ! �� � ,� ! 	 R2
i  �� � � �%! ��� �  ,� ��! ����� �'(�� �

����$-����	�� � �No{��� � ����$*e�������	#�4� ! � qq q�� �´ ,� ��! ����� �'(�� ����$%����	#� bb � � �l��mn��	 ia� ���������º�ª��� � ���� �)m � �5�����3� e+e− → BB
i �����%$ � �����3� B ������	 � $*��� q�� ������$%���"	=� �	! �� ,��� � �����*��� !�� o �'! ����	"���E����

Υ (4S)
i ��� ��! 	��� ,�%��� � ���?���
	 � �����he,�ª� � ��� �   �� � ���� 3� �E! � q�� � q�� � � ���3�2���*����� � ��� !�� ���
	"�������

e+e− → qq � 0 � �&� ����! � � � � � ������� ��� � ���
	 ! ��e � 	"����� � �$� � ( � ! ����e���� R2
 n� ��!*� ��� �'(�� �3��$%���"	#�

e+e− → BB
: �����.	#� �4! ��$%$%� ! � ��� � < ��	� ,� ��!&� ��� � (�� ����$-����	�� e+e− → qq

: �����.	#� �%! ��$%$%�H n�4��� �
	"��� � � ���%� !�< � 3 ���������
	�	#�'�����4� ( ��� i �
� � ���9����� �'(�� ����$%���"	#�K ,� ��! ����� qr� �E��� R2 < 0.5 �����"	������3��� !)(�� � �
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576 ��� � e+e− → qq
:

� � � ��� � �w� � �
∆E

0 � ( � ! ����e���� ∆E
i  !
� ������	 � � � ����� ���E �� ! � �%! �� 3��� �3� � �)� i ���
	 � 	"� ����� � �E ,� ��!¹� ����� ! ��$ ����� ! ���Eo{��� �

����$*e�������	#�%� ! � ��� ��� � ���4� � � B ��| � ��! ����� B ��� !�! ���
	#��$-����	 ! ���������
	 !�� �)	#� ∆E v 0 � 0 ��� �6� ����! ��� � �g¼
��	 � � ~ � �����3����	 ����� � ���
	 ! ��e � 	"�������º��� ∆E  ,� ��! ����� B ����� !���� �´�
	 ����� B �3� � 	 ! ��� �K| � ��! ������ ���
	 ! ��e � 	"������� � ����$%� � ��� B− → D(∗)0 π− ��	 B0 → D(∗)+ π− : ��� � �����H� �  �'! ��� ��! ����� ��! ����� � � � 0������! ��� <
i ���?�������
	#��	#� ���H !�� �
������� �JI»� �* ����F��������� � �4� ! �E��� � � ���F ����F ! �����'�� �� � i ����o{�����
	"����� � 	"� ����� � �� ���3� � I ��� � �
	���$%���"	² ! ��� � ���;����$- 3	������D��� � ���4� � 4 ��� I � � ��	 � ��� ��� �����"	 ���%! ��	������3� B → D(∗)K− ��� ���
�������%���.	 ! ���������
	 !�� �)	F� ( ��� � I � (  ,��	#� + ���K ������ ��� �-�
mz�
	 i"� ����� � �!� � �����
	"����� i � � � � ��� � � ����	"� � �ª��	"�����
� ��! ������ ���������� I ���.	 ! � qr� ����� � � ! ����� �'(�� ����$-����	#�F�����"	 ���"	 �'! ���
�#���"	#�F ,� ��! � I �����4� ( �
� i  � ��� qr� ����� ��!
��$% � ���������/���
	h��� !�! ����	��N�
	 ��� ��! $-�����
� mES

��� �4����$-����	 � 0 � ! � � ��� � ! ���������.	 !
� ��	������ ��� Breco

i
� I � � ���"	"��	 �h� �*���W �� ! 	"��� � ��� :  ������ � � �G����� < � I ���"	#� !5( ������	 qr� � � ����� ���W$%��� ��! � � �*� I»� �3� !�� ��� ��� !
��� ������	 ! �4� � �����"	2���N$-�����
�%� ( ��� mES

i ��� � I ��m ! ���������)	 � �%����	
	#� �3�  ,��� � ������� � 0 ��� �'(�� �3��$%���"	#�
��������� !5(�� �¹������	[�4��� ! �Y���3�%���5��� � ����� � ���Do{����3�	 ! �D	��E����� qr� �H� ∣∣∣∆EBreco − ∆E

fit
∣∣∣ < 3 σfit∆E

��� ∆E
fit

��	 σfit∆E
�����"	=��e3	���� � �= �� !%� �±��� � �
	���$%���"	 � ��� � ���
	 ! ��e � 	"������� � ��� � ��m �E! ���"	#�-$%� � ��� � ���3�*������ ���3� � ��� : ��o � �&� ����! ��� � �g¼ �
	 � � ~! ,� ��! ����� ( �4��� ��! �D� � $ �E! � q�� ��� < ��| � ��! � ��� $%���"	#� ! � �!�
	���	"���.	"� qr� � i

�����Yo{����3
	 ! ��� � ���²$-� � ��� B → D(∗)π− �����"	[� ��� $%����	 � ���·f � � � �����	� � � qr�zI f 3.5 σfit∆E
��� q�� �� ,� ! $-�
	� �a�������
� !)( � !²� ��� � � !
� �[o ! ����	������ � ��� ��� ������	 ���%! ��	"������� B → D(∗)K− � 0 � !�� ���%� � 	"������� ��!

∆E
( � ! ���

���"	 ! � 12 MeV  ,� ��! ����� ��� �����"	 ���%! ��	������3� B → D(∗)a−1
��� � I»� 	#��	 � ���4�3����$% ! ��� �k� �&����$*e ! � � �
���

	 ! �������¹����� !
��� ���a�
	¹���
	 � �����Ee������*$%��� ��!���i �
	 30 MeV  ,� ��! ����� ��� ������	 ���%! ��	"������� B → D(∗)ρ− ���� �C !
� ��������� �zIg� � π0 � �  � �� � $-����	#�4� ! � � ���3� � Ig� 	���	 � ��� � �����4! � � � ��� !
� �
�%� � 	������ � t ��! �������&� ����! ��� � ��¼
��	 � � ~ i �����������.	���	�� ��� �4����$%���"	,� �´ !
� �
������� � �= ������? ,� ��!

∆E v −0.2 GeV � 4 ���;������	 ��� �hf
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� � ( ! �4��� B ��� � ���- �� ! 	"��� � ��� � �*� Ig� 	���	 � ���4� : ��� ��� � �E! � � � �/ ������ < � I �´ ���� � 	 � ! �������3�
	 !
� ��	�� �
| � ��! ����� ��� �����"	 ���%! ��	"������� B → Dπ− i ���  ����� ! � ( ������	=����������	����'� ����$-����	 � ��� ��� ������	 ���%! ��	"�������
B−/0 → D(∗)0/+(→ D0π0/+)π− ��� ��� π0/+ � I �% ���� � 	 � ! ���������
	 !�� �)	 i ���� ,� � 	 ��� � ����$-����	��E��	�� !
����� ��� ������	 ���%! ��	"������� B− → D0ρ−(→ π0π−) ��� i�� �'��� ��( �ª� �Ji ��� π0 ���.	��� ,� !��3��� �
� � � ��� � � � «)�²¡ � � � � �ª¡ ����­ �*���r� � ¡r� � ­ �ª¡r  � � ����� ­ �

B → Dρ−

0 � �ª���
�ª� � � B → Dρ−
i
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	h ,� ��! � �Wo ! ���
	"����� � �
�����&����� � � � ��	��C��� !�! ���
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576���� � � ��@�8�����2�6 4#8��E:



� � � ��� ���������
	 !�� �
	"����� �����'� � �5� ( � � �2���?s 2�4�57698�
H4#8�@
ArB � � �3�

)
2

mass (GeV/c
1.75 1.8 1.85 1.9 1.95

 )2
E

ve
n

ts
 / 

( 
0.

00
1 

G
eV

/c

0

500

1000

1500

2000

2500

)
2

mass (GeV/c
1.75 1.8 1.85 1.9 1.95

 )2
E

ve
n

ts
 / 

( 
0.

00
1 

G
eV

/c

0

500

1000

1500

2000

2500
+π - K→ 0D

   188± = 33997 Dn
2  0.0 MeV/c± = 1864.4 Dm

2 0.03 MeV/c± = 6.26 Dσ

 (GeV/c)D
*P

0 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6 1.8 2 2.2

E
ff

ic
ie

n
cy

 (
%

)

30

40

50

60

70

80 Chi2 / ndf = 6.436 / 7
 0.516 ±   = -0.282 α

 0.000 ±x0       = 1.125 
 0.280 ±m        = 50.246 

 efficiency+π - K→ 0D

 0.1± 0.3 ±> = 50.2 C∈<

 = 0.995GTVL = 0.993;   fGTLf

Chi2 / ndf = 6.436 / 7
 0.516 ±   = -0.282 α

 0.000 ±x0       = 1.125 
 0.280 ±m        = 50.246 

)
2

mass (GeV/c
1.75 1.8 1.85 1.9 1.95

 )2
E

ve
n

ts
 / 

( 
0.

00
1 

G
eV

/c

0

500

1000

1500

2000

2500

3000

)
2

mass (GeV/c
1.75 1.8 1.85 1.9 1.95

 )2
E

ve
n

ts
 / 

( 
0.

00
1 

G
eV

/c

0

500

1000

1500

2000

2500

3000
+π -π +π - K→ 0D

   200± = 25930 Dn
2  0.0 MeV/c± = 1864.7 Dm

2 0.04 MeV/c± = 4.55 Dσ

 (GeV/c)D
*P

0 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6 1.8 2 2.2

E
ff

ic
ie

n
cy

 (
%

)

0

10

20

30

40

50 Chi2 / ndf = 7.943 / 7
 0.315 ±   = 3.157 α

 0.000 ±x0       = 1.125 
 0.197 ±m        = 19.993 

 efficiency+π -π +π - K→ 0D

 0.5± 0.2 ±> = 20.1 C∈<

 = 0.954 GTLf

Chi2 / ndf = 7.943 / 7
 0.315 ±   = 3.157 α

 0.000 ±x0       = 1.125 
 0.197 ±m        = 19.993 

)
2

mass (GeV/c
1.75 1.8 1.85 1.9 1.95

 )2
E

ve
n

ts
 / 

( 
0.

00
1 

G
eV

/c

0

200

400

600

800

1000

1200

1400

1600

1800

2000

2200

)
2

mass (GeV/c
1.75 1.8 1.85 1.9 1.95

 )2
E

ve
n

ts
 / 

( 
0.

00
1 

G
eV

/c

0

200

400

600

800

1000

1200

1400

1600

1800

2000

2200
+π +π - K→ +D

   166± = 24834 Dn
2  0.0 MeV/c± = 1869.0 Dm

2 0.03 MeV/c± = 5.23 Dσ

 (GeV/c)D
*P

0 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6 1.8 2 2.2

E
ff

ic
ie

n
cy

 (
%

)

10

20

30

40

50

60
Chi2 / ndf = 5.184 / 7

 0.426 ±   = 2.718 α
 0.000 ±x0       = 1.125 

 0.252 ±m        = 33.552 

 efficiency+π +π - K→ +D

 0.3± 0.2 ±> = 33.7 C∈<

 = 0.972 GTLf

Chi2 / ndf = 5.184 / 7
 0.426 ±   = 2.718 α

 0.000 ±x0       = 1.125 
 0.252 ±m        = 33.552 

" -�!98 
;:�# �4< � +"2�A�@3*�8 5 2���A �
5j8 �=8���5 � 8;B)2 ��2�4�6>2 ��B�8
mXc

6���2�� �k@���A s Ar4#8%8�� p∗Xc

8 s 8
4 �=8
5>5 2���5 � 8@�2�B�@
ArB�8
4;B � 8
4�4�8
Ar4 �����
5 � �%2�576���A�8 �
Ar4?B)2B> ��4 �=8;Ar576 B 6 ����8 s ��Ar4 � � � �
B 6 � 8
4'B�8 �
6 +��,2�B 6 ����6 4;5¬8 &�5j898´8
5
: � 4���6 5j8 5 84%�@�2r@
6 5 �h8�� > ���z@
5>6���� � 8

p∗Xc

6
@���B ��� �z8 � 8 � 4 ��6 5¬898 s ��Ar4dB�8�� � � � 8��,<
D0 → K− π+ 5

D0 → K− π+ π− π+ 5 D+ → K− π+ π+ 6 � 8)*32�A15&8�� ��2 ��84:



� � � �E���� ���	 ! � � ��� ���������.	 !�� ��	"����� � ���K �� ! 	"��� � �����

)
2

mass (GeV/c
1.85 1.9 1.95 2 2.05

 )2
E

ve
n

ts
 / 

( 
0.

00
2 

G
eV

/c

0

50

100

150

200

250

300

350

)
2

mass (GeV/c
1.85 1.9 1.95 2 2.05

 )2
E

ve
n

ts
 / 

( 
0.

00
2 

G
eV

/c

0

50

100

150

200

250

300

350
+π φ → +

sD

    49± =  2160 Dn
2  0.1 MeV/c± = 1968.7 Dm

2 0.13 MeV/c± = 5.66 Dσ

 (GeV/c)D
*P

0 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6 1.8 2

E
ff

ic
ie

n
cy

 (
%

)

10

20

30

40

50

60
Chi2 / ndf = 2.740 / 3

 1.521 ±   = 4.293 α
 0.000 ±x0       = 1.000 

 0.869 ±m        = 32.163 

 efficiency
+

π φ → +
sD

 0.4± 0.8 ±> = 33.0 C∈<

 = 0.985 GTVLf

Chi2 / ndf = 2.740 / 3
 1.521 ±   = 4.293 α

 0.000 ±x0       = 1.000 
 0.869 ±m        = 32.163 

)
2

mass (GeV/c
1.85 1.9 1.95 2 2.05

 )2
E

ve
n

ts
 / 

( 
0.

00
2 

G
eV

/c

0

50

100

150

200

250

)
2

mass (GeV/c
1.85 1.9 1.95 2 2.05

 )2
E

ve
n

ts
 / 

( 
0.

00
2 

G
eV

/c

0

50

100

150

200

250 + K
*0

K → +
sD

    40± =  1446 Dn
2  0.0 MeV/c± = 1969.0 Dm

2 0.13 MeV/c± = 5.12 Dσ

 (GeV/c)D
*P

0 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6 1.8 2
E

ff
ic

ie
n

cy
 (

%
)

0

5

10

15

20

25

30

35

40

45
Chi2 / ndf = 0.502 / 3

 1.121 ±   = 4.401 α
 0.000 ±x0       = 1.000 

 0.623 ±m        = 17.161 

 efficiency+ K
*0

K → +
sD

 0.1± 0.5 ±> = 18.0 C∈<

 = 0.969 GTLf

Chi2 / ndf = 0.502 / 3
 1.121 ±   = 4.401 α

 0.000 ±x0       = 1.000 
 0.623 ±m        = 17.161 

)
2

mass (GeV/c
1.85 1.9 1.95 2 2.05

 )2
E

ve
n

ts
 / 

( 
0.

00
2 

G
eV

/c

0
20
40
60
80

100
120
140
160
180
200
220
240

)
2

mass (GeV/c
1.85 1.9 1.95 2 2.05

 )2
E

ve
n

ts
 / 

( 
0.

00
2 

G
eV

/c

0
20
40
60
80

100
120
140
160
180
200
220
240

+ K0
s K→ +

sD

    38± =  1416 Dn
2  0.0 MeV/c± = 1969.0 Dm

2 0.13 MeV/c± = 5.72 Dσ

 (GeV/c)D
*P

0 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6 1.8 2

E
ff

ic
ie

n
cy

 (
%

)

10

20

30

40

50

60 Chi2 / ndf = 3.380 / 3
 1.944 ±   = 1.928 α

 0.000 ±x0       = 1.000 
 0.928 ±m        = 30.662 

 efficiency+ K0
s K→ +

sD

 0.0± 0.8 ±> = 31.1 C∈<

 = 0.995CT = 0.993;   fGTLf

Chi2 / ndf = 3.380 / 3
 1.944 ±   = 1.928 α

 0.000 ±x0       = 1.000 
 0.928 ±m        = 30.662 

)
2

mass (GeV/c
2.15 2.2 2.25 2.3 2.35 2.4

 )2
E

ve
n

ts
 / 

( 
0.

00
3 

G
eV

/c

0

50

100

150

200

250

300

)
2

mass (GeV/c
2.15 2.2 2.25 2.3 2.35 2.4

 )2
E

ve
n

ts
 / 

( 
0.

00
3 

G
eV

/c

0

50

100

150

200

250

300
+π - p K→ +

cΛ

    34± =  1023 Dn
2  0.1 MeV/c± = 2284.5 Dm

2 0.15 MeV/c± = 4.83 Dσ

 (GeV/c)D
*P

0 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6 1.8 2

E
ff

ic
ie

n
cy

 (
%

)

0

10

20

30

40

50

Chi2 / ndf = 4.261 / 2
 2.240 ±   = 2.875 α

 0.000 ±x0       = 1.000 
 1.031 ±m        = 27.153 

 efficiency+π - p K→ +
cΛ

 0.3± 0.9 ±> = 27.0 C∈<

 = 0.995GTVL = 0.985;   fGTLf

Chi2 / ndf = 4.261 / 2
 2.240 ±   = 2.875 α

 0.000 ±x0       = 1.000 
 1.031 ±m        = 27.153 

" -�!98 
;:�# � < � +"2�A�@3*�8 5 2���A �
5j8 �=8���5 � 8;B)2 ��2�4�6>2 ��B�8
mXc

6���2�� �k@���A s Ar4#8%8�� p∗Xc

8 s 8
4 �=8
5>5 2���5 � 8@�2�B�@
ArB�8
4;B � 8
4�4�8
Ar4 �����
5 � �%2�576���A�8 �
Ar4?B)2B> ��4 �=8;Ar576 B 6 ����8 s ��Ar4 � � � �
B 6 � 8
4'B�8 �
6 +��,2�B 6 ����6 4;5¬8 &�5j898´8
5
: � 4 ��6 5¬8 5 84%�@�2r@
6 5 �d8�� > ���z@
576���� � 8

p∗Xc

6
@���B ��� �z8 � 8 � 4���6 5j898 s ��Ar4pB�8�� � � � 8��B<
D+
s → φπ+ 5 D+

s

→ K∗0 K+ 5 D+
s → K0

S K
+ 8
5

Λ+
c → pK−π+ 6 � 8)*32�A15&8�� ��2 �984:
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������
�� � �����������a���Z�M��
�
�� mXc(c)

��� ������´ � 
������������=� � �BFK��
ODA�
D � �
�R���R
�Dc��H����§\�� � D�� � � � ��� � � � ������� � �FK� � H������
�i��D���E � ���j��
L�Y� � �	� � D��jP��
��� � �:�R�����RHV�J���Rb � ��� h	� ���M���	�MF ��� � �`�R
 � ���R��
�� � ��� �J� � ���J��� � �� �����J���R���Z����
7�I� � _����B� � ����H·E����M���	�(�A�(� � � ��� � � ������� � � ����
 � � � � � C¯��
aF � �R�	��
7����� � b � ��H�D d � ��
�F �H������ � f � ��F � D�
������
�����X���W��� � ���J�
� � � ��� ∆BR
������
*� � D�HIEK�����
�R��� � � e+e− → B+B− d � ��
�F � 
��R� � ����µ�
� � �W��D���D � � h	� �(H � �MF�� k ��� f·�K¡ �1H � ��
��I���
� h	� �(� � � 
O� � FK��
�

�����(���(� � D�HIEK�J�	�
�R��� � � e+e− → B+B−P¦� � D�HIEK�����
���R� � ����D���D � � h	� �W� � �
��� d ����
"F � ���	��
X����� � b � ��H�D:� � _�F � �����

X���R� � H����J� � f \o�R��
B�I� � _ ���� � ����HIE����������U�K�J��
�
������U
�g`
L�
D��M�J��� h	� ���M���	�Q� � ���	�`� � � � 3 %

\�H � ��
�D h	� ����H��7���c� � � � ���������I�J�
� � �"� �� � �X� � �(��� B � � �*� � HIEK���������������c� � D�H·E����	������� � � d FK� � �J� � ��F�E��(F � D�H�D�������� fA�� �A�����X��� � ���J�
� � �i��
��(��� � � �J�����BFK� � �
�R�B����� � ��D��BF�� � �����MDA�
E � ���BF � � F � 
�D��X�K����
aH��Z� � �V�J���R��\�������R��D � ����H��¦���	� � �¦�R��
YF � �����

M

� � � � �&���W����
YF � �R�	��
 � ��� ����
W��
��W� � ���	�`� � � �����
0.5 ± 0.5 %

d F ��� � 5.21 < mES
min < 5.24 GeV/c2

f \ ��S � � � ��� � � � ��
�� � ��� h	� ���M���	� � �����RD��YPi����� � HA� � �J��� � �
��
�J�
�R
���� h	� �|� � �UP�� � ��´ ��� �+����
 DA��D����������	��
 e+e− → qq
��¡ �ZH � ��
L�I�J���QD������R��������� h	� �Q���=�J� � �����
� � ����

∆BR
��
L�o�^��� � H ��� FZF�� � 
¯b��J�����R�tF ��� � �R��
¯F � �����

¯

� � � � �*�A� � ��� ����
 h	� �qF ��� � ����
¯F � �R�	�

¯����� � 
 �

�cD������ � �R��
�\ � � � � ���M���	�
�J�
� � �j� � �I� � _i���B� � ����HIE����������(�V����H mES
min � � ��
�� h	� �BFK� � �
�R�������������������� � �RD�� ��¶ �R����� � ���U� � ��H7¥�� � �7F � �R
��7���1H � ��F��
�c�K����
U����HV���RH � �^���7� � � ��� � � � 
Lg�
L�
D��Y�J��� h	� � ��¶ ���K�]\� � ��F � k 
 ����� ��� � � � ���QI \ � �BHIE � ��_*H � E�D � ��������� mES

min ��
L�tF � 
�
������R� � C;���J���R� � � ��� mES
min � �����R�R
�D���K�K�J���������	����
��������R��� h	� ��� ∆BR = 0

�K�J��
����G
���� � ���J��� � �1��D���D � � h	� ��\ � � � ���
�R������������
��t�
mES

min = 5.225 GeV/c2 d ��� Ø�f
���gPCY�UxV]ZqV/P1U/nCNoZkU�YaX1^��af�Z/U

N recul
X

c(c)

U;XhYh[�ba�HZ/U�Z]Y | X1Y�V3[�TJX1Y RHZ
mES

min
n1TJNJU�X1Y)[xd3[�dq_�f�TQU?d/ihPCWa��{@V3Z]Wa�eX��H[�Z]Y)W%U

RaP1Y�U�NEw dkV���P1Yh[�ToNJNoXhY
e+e− → B+B−

_�X1Waf
mES

min = 5.20GeV/c2
m��#Z@V��aXhTc�SZ/U;[r_aW�f�Z/^eZ/Yh[uPCf��aTo[�fOPCTJf�Zhm
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BrecoC � � � ���M���	�I���
� � �X����
��I� � _G����� � ����HIE����M���	�q���Gb � ��HA�
� � �G��� mES
min ��
��|�J��� � �R� � D���� � H � �MF`µ�I�J���G� � � � �X� � �X��� Breco

\
N tag
Breco

� C � � ��� � � � 
Lg`
��
D��Y���
� h	� ���J
�
 � H���D���P1H��G� � �X� � �X��
L�*HV���RH � �RD�����j��� b��JH 
 � ��
 � ���J�����
� � C+� h	� �����
���
D ∆BR
��D��K�����jFK� � � ����h	� ���
� � � ���JI ��
L�Y����
 � � D��i�K�J��
�����
� � ����D���
 ��£ ����
QH���HV��
�\	���=�
� � _"����� � ����HIE����M���	� � D���� BC(C)

true

��
�� � ����F�����H�D�F�� � BXc(c)
meas (mES

min =
5.225 GeV/c2)

\`�I� � _Y���a� � �J��HIE����������=�M��
 � � DaF ��� � mES
min = 5.225 GeV/c2

� C;� � D�
 � ���I�J�U��
L�� � ����DN� ��� � � � �`� Ø \�PX��� � HIE��(F ��� � � � D�H·E����	������� � � tag− 
�� � � g�C ��� 
����a�A��PX� � � �R���aF ��� � � � D�HIEK����µ�
�R��� � � tag0 
 C �`� 
���� � C¯��
XF � �R�	��
 � ��� ����
 � ��F � D�
����	�
���	�"��� ∆BR
�A�]��H��
�������������G����
 � � D1�J� � � 
h	� �B����
cF � �����

������ � 
c� � �������	�a
 � �¦DA� � � � �
� � �i�K����
7���*HV�J
 ��S ����
 NXc(c)
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C � D�� � � � ��� � � ���
∆BR

��
�����´ � 
���D��¢FK� � � ���¢� � � �R�
��� � �����R� H � �A�MH������	����� � ��HA�
� � � \(� � �
D
slope∆BR

\�� � �����N� � � ��� � � � H � ���M�R
��7��� %/(10 MeV/c2)
� C � � ��� � � � 
Lg`
��
D��Y���
� h	� �(���K���R�(H ��� � � �����
=��� � ���J�
� � ��
O��� mES

min ���R���J�	�O��� 5.200 GeV/c2
P

5.250 GeV/c2
\����R���a��
L�c� � ����D��*F�� � �

∆N tag
Breco

N tag
Breco

= slope∆BR(%/(10 MeV/c2)) × 2.5(10 MeV/c2) d �����	f
C;� [ ������� �`��× � � �����Y����
Z� ��� � � � 
X
�g`
���D��M�J�
� h`� ��
XF ��� � �R��
B�����]D � ���	�

BD�HIEK�J�	�
�R��� � ��
 � ��������
�D�
 �¡ � � ���Y� � h	� � h	� �*F�� � 
=���GF � � �A�
D*��
���� � �J�����N����F�� � 
=H���
�����H�� � ���R� � ����
=
 � ����b����R������
 �
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C¯��
�� ��� � � � 
�
Lg�
L�
D��Y���
� h	� ��
�
��N
 � �^�������R
����	�����:� � � ��
=H��J��D�� � � ����
N�
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�
 ��� � H���
c� � � ��� � � � 
�
�g`
L�
D��M�J��� h	� ��
 ×`Ø��

� HIEK�����
�R��� � � �`g`
��
D��Y���
� h	� � ∆N tag
Breco

/N tag
Breco

tag− � C 2.0 �
tag−

C
1.6 �

tag−
[

1.3 �
tag0

C
0.8 �

tag0

[
0.8 �

�����g	s��
����
	1�:94*1(C�;�����  �*D0��a01�B21$ - �;��
)��* - ���;(C�;&)��24* - � � �:��$'&)(4*407 �*
B

94�%$ =x���1�B*1$ *1�?�s(4*494��� 01�;(C�j����0
N tag
Breco
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o� ��� � � � 
o
�g`
��
D��M�J�
� h`� ��
oH � ��� � ����
oP�� ��� 
o�R��
+� � ����
+���|��D�
������
D�� � �J��� � �*����
oFK� � �
��H � ����
HIEK� � �MD���
:D�� � ���RD�
 ��¶ ���R��
1
 � �	�:� � ��
i� � _ h	� �J�	�
���
D�
:�M��
 � � D���
j�K�J��
:��� = - (1�;��*�� � - ���L\F � ����H���F���������������P"� � DA�J��� � �J��� � �1� � � � �X� � �(��� Breco
�

� C¯��
 � ��� � � � 
t
Lg`
��
D��Y���
� h	� ��
t
 � � �R�QH����RH � �`���U� � ����H���H����
DJ\����R����
o
 � �	� F � � F � ��
tPcHIEK� h	� �O� � ������*��D�
��R�	��D�� � �J�
� � �:���NFK� � �
�RH � �R��
=HIEK� � �MD���
��K����
����>= - (C����*��S(+*491����� �
� C¯��
(� ��� � � � 
(� ��� D�� � HA�
�R������
7F � � �����K���	�(���X� � ����H�� � �
��� � ���Z
 � � ����
c�I� � _¦���X� � ����HIE����M���	�(����µ��� � ��D�������� � ��
 �|� ��
Y� ��� � � � 
Y��D�F^���������	�1� � � � ���j���i��D�
����	��D�� � �J�
� � ���M����
"� � �R�����	�Y¥�� � �����
�
 � H��RD���
�����
�F � D�H�D������	�
��
cF � �R
 h	�9� ���R����
�
 � �	��������D�F^�����K�����
��
c���*���GH � ���K�J��
�
�����H��*� � ��D·µ����HA�
� � ����������� ��� ���N���X�MDA�
E � ���N� � ���K����g`
���\KH � �	� � ��� � ���M���	��� � _:��� � _jF � D�H�D������	����
 �
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C¯��
 h`� ���	���R�
D�
 N tag

Breco

\
g−
\
g0


 � �	�+� ��� ����
+� � � �R
+
 ��� � H���
 � � � ��� � � � 
o
�g`
��
D��M�J�
� h`� ��
 � C¯��
o� ��� � � � 

 � � g− ���
g0


 � �	�B���R
�H � �
D���
B�K����
Z�R��FK� � ��� � �JF�E�� ��� Ø�� Ø \;� � ����H�� � �
�R� � ���"
 � � N tag
Breco

��
��BHV���RH � �RD�����:FK� � �
���7�K����
=���aFK� � ��� � ��F�E��aF � D�H�D������	� �^� ���N��� � _�� k ���(
 ��� � H��J\K� � �NPG� � ����H�� � �
��� � ���7
 � � αCBd ��� � _�� k �M� � ��� � � � �K����
j��� [ �����R� ��� ��f \O��
L����´ ��� ��D������ h	� ��� � �J� � � � � C;� [ �J����� ���JI � ��F � ������ � ����
����X�����"����H���
 � D�
 � �R�I���

*F ��� � �R��
N
�D�����HA�
� � ��
 tag− 
 � � � g�C �`� 
�� �G��� tag0 
 C �`� 
�����4 �
Q��D�
��������Y���:�J� � �������R��\ σsystQ

� � � ��� � � � 
�g`
���D��M�J�
� h	� �W����
 � � � �M
 � � ���j���M������� � � Q ���
σsystQ /Q

��
L�� � � ��� � � � 
Lg`
��
D��Y���
� h	� � � �����J���R���a
 � � Q �
� ��� � H�� Q σsystQ σsystQ /Q

Q ≡ N
tag−
Breco

193567 3891 2.0 %
Q ≡ g− 3.7 0.8 21.6 %

Q ≡ N
tag0
Breco

113302 1377 1.2 %
Q ≡ g0 2.7 0.6 22.2 %

�����g	s��
����65u*405 �� �D21(+*1�?�3*40>*1(1(+*1��(+0,0��a01�B21$ - ����
)�?*405 �*7� - FK� � �
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 �I�J����
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���D��M�J�
� h	� ��
 h	� �|��D�F^���������	�X���M���"= - (C�;��* �>(+*491�j� � � ���*� � � �R
 � � �R���R����
"�;����
H � ��� ��H���� � ��
a���G���Y
��R� � �����
� � �9\^���Yb � � ���X� � 
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�DB�K�J��
(� � ��´ � 
��
���M���	�(�A�N���W
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� � ���
� � � � � � �R����� �
D�� �C � � ��� � � � 
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���D��M�J��� h	� �NF � � �����K���������(���Bb � ��H���� � �:��´ � 
L�
D��N�G��� � _ � � �R���R����
a�����Bb � � ���a���(���b � ��HA�
� � � ρS(mXc)

���a
���
(FK� � ��� k � � ��
 � C;�YF � ����� k � �B
 ��� � H��X��
L�(����
�H � ��D��X�A� h	� �����
���KD��B�K����
7���FK� � ��� � ��F�E�� �������JI \9���W��� � _�� k ���"��
L�Z� � �M� � b����R� h	� �"����
NFK� � ��� k � � ��
(���"���Yb � ��H���� � � ρS(mXc)
 � �	�oH � �	� � ���R�	�

+P�¥�� � �|H�� � _ � ������� � 
o�K����
+�R�	� � �	��� � � � � � � C � ��´ � 
��
�������	�o��
�� � D������R
�DqP�F�� � 
��R� � � 
� ��F � �R
���
a����b�����
����	���J� � ��� � PMH·EK� h`� �Xb � �R
c��� � D�
 � � � �
� � � d � ��
�F � �M��
�
��BH����	� � ���R� f ��� ρS(mXc)
���

±∆σC d � ��
�F � ∆MC
fA�

∆σC
��
L�Y��� ���R��D � ����H��i���	� � �j��� � D�
 � � � �
� � �
� � ���
� � � � � � �A�MH������R�:����
� � ����D���
:P¤��� h	� �������j��
L� � ��´ ��� ��D������ h	� ��� � �J� � � �¦� � �R��H�� � ���R� � ���i
��
�J�
�R
��
� h	� ��
 � � ��� � D�
 � � � ��� � �

� � ���
� � � � � � σMC
C

�
∆MC

��
L�B� � � ��� � � � 
L�I�J����
���� h	� ��
 � � Mdata
C

���:�M��
�
��MH����	� � ���R�M��� ρS(mXc)��´ � 
���D��"������
(����
(� � ����D���
 � C+� [ ������� ��� Ø � � �����G����
7�J���R� � � 
(���G�Y��
�
���
NH����	� � ���R��
(��� ρS(mXc)��´ � 
���D���
��K����
O����
O� � ����D���
 d Mdata
C

f ���=�K����
O����� � �	��� � � � � � d MMC
C

f ���R��
�� h`� �NH����R���7��� ∆MC
�

� � ��� Mdata
C d MeV/c2

f
MMC

C d MeV/c2
f

∆MC d MeV/c2
f

D0 → K− π+ 1863.9 ± 0.1 1864.5 ± 0.0
����×

D0 → K− π+ π− π+ 1863.8 ± 0.2 1864.7 ± 0.0
���JI

D+ → K− π+ π+ 1868.9 ± 0.2 1869.3 ± 0.0
���JI

D+
s → φπ+ 1967.8 ± 0.4 1968.7 ± 0.1

�����
D+
s → K∗0 K+ 1967.2 ± 0.6 1969.0 ± 0.1

���o�
D+
s → K0

S K
+ 1967.5 ± 0.8 1970.0 ± 0.2

��� �
Λ+
c → pK−π+ 2286.1 ± 0.5 2284.7 ± 0.2

��� �
�����g	s��
��}�
� - 040H*40 -/. ��01�B24*40 MC

 �*405 �� �D21(+*1�?�~0A$ �) �*40,���������E0H240 *1�
*1(C(4*1��(+0
∆MC




C;� [ ������� �`� � � � ����� h	� ���	�7P��������(����
 � D�
 � � � �
� � ��
���� ρS(mXc)
�K����
�����
�� � ����D���
 d σdataC

f ����K����
��R��� � ���
� � � � � � d σMC
C

f �J����
�� h`� � ∆σC
�

� � ��� σdataC d MeV/c2
f

σMC
C d MeV/c2

f
∆σC d MeV/c2

f
D0 → K− π+ 6.1 ± 0.1 6.2 ± 0.0 0.1
D0 → K− π+ π− π+ 5.0 ± 0.2 4.6 ± 0.0 0.4
D+ → K− π+ π+ 5.0 ± 0.2 5.2 ± 0.0 0.2
D+
s → φπ+ 5.2 ± 0.4 5.7 ± 0.1 0.5

D+
s → K∗0 K+ 5.4 ± 0.6 5.1 ± 0.1 0.3

D+
s → K0

S K
+ 5.7 ± 0.7 5.7 ± 0.1 0.1

Λ+
c → pK−π+ 4.1 ± 0.5 4.8 ± 0.2 0.7

��� ��	@��
��x�
� 240H�����j�;����� 0 -/. ��01�324*40 σC  �*405 �� �D21(+*1�?�~0,$ �) �*40A���������E0H240 *1� *1(C(+*1�j(+0
∆σC




C � � ��� � � � 
Lg`
��
D��Y���
� h	� �O��
�
 � �O���OH���
�� � ���
�RF�����
 ��´ � 
����������	��
���
���� � ����D��=
 � � ����
 �K� � � ��
�� � ��µ� � ���	�+����
+����
L� � �R� � ��� � ��
¯�K��������
 d � �R� � � ��
 �`�J� P ����× ��f \§����
 � �J���R�+���Q������� � _�� k ���Q� ��� � � � \�����F � ����� k � �



���JI�� C¯��
����R��D � �����
��
�
 ��� � H���
c� � � ��� � � � 
�
�g`
L�
D��M�J��� h	� ��
 × �0×
D��
���	��
��I���
��
L�
� h`� � �

C¯��
�� ��� � � � 
�� � ��
c� � _:H � ��� ��H��
� � ��
 � � �	��� � � � � � 
 � ��������
�
 � �R�J�J�	����
*�
� H � ��� ��HA�
� � �j� � ����H���H����
DN����
�� � ��H���
 � � � 1.4 %

FK� � � � ��H��
� H � ��� ��HA�
� � �j� � ����H���H����
DN����
�� � ��H���
�� ����� � 1.4 %

FK� � � � �JH��
� H � ��� ��HA�
� � �j� � ����H���H����
DN����
�� � ��H���
�� ��� � 0.8 %

FK� � � � �JH��
� �A��HV��H��R�
DN� � 
�D�����H���� � � ���
	�� � ��
�	 �
� � �
� �����&� 1.5 %

FK� � 	�� � �j�������	���R�KD
� �A��HV��H��R�
DN� � 
�D�����H���� � � ���
	�� � ��
�	 [ ����� � � 2.5 %

FK� � 	�� � �j�R�������
���KD
� �A��HV��H��R�
DN� � 
�D�����H���� � � ���*F � � � � ��
�F [ ����� � � 1.3 %

FK� � F � � � � �j�R�������
���KD
� H � ��� ��HA�
� � �j� � ����H���H����
DN����
 K0

S

�
2.0 %

F�� � K0
S� �A��HV��H��R�
D(� � 
 ����� � ��	�� � �:F ��� � �R��
OF�� � ��
a� 0.2 %

FK� � ����� � \�H�� h	� � � ��F � D�
������
� × � � � ��
� � _1���NF�� � ��
 h	� �¯
 � �	�c��H�H���F��
D�
cFK� � H��N
�D��R��HA�
� � �C¯��
G� ��� � � � 
G
�g`
��
D��Y���
� h`� ��
"
 � �����������R��� � ����D���
B���R��DV�J� � �������	�B� � � 
 h	� �W�����M¥��M�YH � ��� ��H���� � ���
L�cF�� � 
���� � � 
=b � ��
=��D�H���
�

�J� � �*F ��� � � �j� � ���(� � ����D �
C;� [ �����R� ���e� � � �����M� � ����
����X����������
B� ��� � � � 
B
�g`
���D��M�J�
� h	� ��
ZFK� � � � �������M��D�
��R�	�
D�� � ���
� � �����
|F�� � ����H � ����
�HIEK� � �MD���
�\��A_�H���F���Dc� � � ��� � � � � � ��� � _GF�� � ��� k � � ��
��������7b � ��HA�
� � � ρS � C+� h`� ���	���R�
DHV�J��H � ��D�����
��B���:��� � ���J�
� � � � �����J�
����� ∆ 〈εC〉 / 〈εC〉

� � ����HV��H��R��DY� � �WP � ���YH � ��� ��HA�
� � � � C¯��
Z�����]D·µ� ���	����
U
 ��� � H���
O
 � ��� � D�b�D � ����H�D���
=H � �M����
 � ���7� trk F ��� � �R��
QH � ��� ��H���� � ��
Q� � ����H���H����
D7����
Q� � ��H���
�\
PID

F ��� � ����
"����H�� � �
��� � ����
"
 � � ����
G����HV�JH��R��D�
�����
M
�D��R��HA�
� � � 
M� � �������	���R�KH��J��� � �9\ stat F ��� � ���
��
�J�
�R
���� h	� � � � �	��� � � � � � ����
�F � ���R�����B��� shape1
F ��� � ���WF � ���M� k � �XFK� � �
�R�G���"� � ����H�� � �
��� � ���B
 � �����b � ��HA�
� � � ��´ � 
L�
D�� d b � � �M����� ����b � ��HA�
� � � �Q
�����F��R� ��� � ��� ���R�¦��� � 
�
���������� f \ KS F ��� � ����
H � ��� ��H���� � ��
=
 � � ����
 K0

S

���
veto

F ��� � ����
=����H�� � �
��� � ����
�
 � � �R��
O����� � 
 �
� � ���N���N��D�
������
D�� � �J��� � �1��� C 〈εC〉 stat shape1 trk PID KS veto

D0 → K− π+ ��� � ��I ���J� � ���JI � ×��o� � I��e� � µ ���JI �
D0 → K− π+ π− π+ ���JI �;× ×���� � I�� � � Ø��JI � I��e� � µ ���o� �
D+ → K− π+ π+ ��� Ø^Ø�� ���J� � ��� � � I���� � I��e� � µ ����� �
D+
s → φπ+ ��� Ø^Ø � I�� � � ×��JI � ���JI � Ø���� � µ µ

D+
s → K∗0 K+ ����× � � I�� � � ���o� � I���� � ����� � µ µ

D+
s → K0

S K
+ ��� Ø;×^× I��J� � ��� � � I�� � � I��e� � I�� � � µ

Λ+
c → pK−π+ ���JI � � Ø�� Ø � ×���× � I���× � I�� � � µ µ

�����g	D��
��}�&5q*40  �� �D21(4*1�?�B*40 0H����(+94*40  �� *1(C(+*1��(40 0��a0C�321$ - �;��
)��*40 - 040H�H91��24*40 � � - FK� � ����� 
 � ��H � � � ����?�:24*40>94��$ $ * *1(C(+*1�j(A(+*1� - �;����*,01��(A��� *�� 9 - 91���B2 〈εC〉 
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C;����� � ��� k � � 
 ��� � H���� � � ��� � � � 
�g`
���D��M�J�
� h`� � F � � ���R�����1����
1� � g���������
1� � �������J�R��
 � �
���R�R
�D���
F ��� � ����
O�J����� � � 
=����
=�I� � _:���N� � ����H·E����M���	���R�	�
� � ��D�������� � ��
O�A��F ��� � χd � � ��
 � D�
 � �R�
�J�

=
 � �����
� µ



× �}I � EK�JF��R� � � ����� � � � � H���� � �:����H�� � 
��R���(���NH·E�� � ���N�K�J��
�����
=��D�
������
D�� � �J��� � ��
=����
���D�
 � ��
 B
� D�
O���G� ×aI � � �(D���D � ���R���������V\`��� � � H � �	� � �R� � �
� � �WPB� � � ��� � � � ���K�����c��
L�=����F � � �
���	��� �`¶ �1FK� � ����H � ���R� �F ��� � ����
a��D�
��R�	��D�� � �J�
� � ��
7����
(��D�
 � ��
 Ds

h	� � 
 � ���a� ��� 
a�M��
 � � D�
aFK� �7� ��F�F � � �(� � �I� � _¦� � ���Gµ� � ����HIE���������� D+
s → φπ+ h	� ����
���H � ��� � �V����H � ���OF � D�H��R
�� � �X��� I�� � \J����F ��� � ���c��D�
��R�	�
D�� � ���
� � �

Λ+
c → pK−π+ � � ������� � ��F�F � � �����*� � ����HIE����M���	����
���H � ��� � P I�� � F � k 
 �
� ��� � �R�U� � ���Q���O��D�
��R�	�
D�� � ���
� � � D0 → K− π+ π− π+ \J���|�I� � _B���O� � ����HIE����M���	����
L� � ������� �FK� � ���(F � � � � ���N�

B
(
D0 → K−π+π−π+

)
= B(D0 → K−π+) ×Rint d ��� ��f��S Rint

��
L�q��� h	��� �
�����	��� � � ��F�F � � ��� � ���X� � �J��H·E����������|���=H��=� � ���=P(H���� � �����=���7��D�
��R�	�
D�� � ���
� � �
D0 → K− π+ � £ �*�M¥��M�J\K����
��
� � _:���*� � ����H·E��������	� D+

s → K∗0 K+ ���
D+
s → K0

S K
+ 
 � �	�����
 � � D�
 � �����J�
�������������aPWH���� � � ���X���M��D�
������
D�� � �J��� � � D+

s → φπ+ � C¯��
(� ��� � � � 
(
 � � ����
c�I� � _¦���� � ����HIE���������� 
 F � �R�Y�J� � ��
 � d D0 → K− π+ ��� D+
s → φπ+ f �A��
 � � Rint

� � �R�����	��¥�� � �(� � �J�R��D���

�D�FK� � D������������K�1���7� � ���R��� � H � ��� ��HA�
���������=����
U� ��� � � � 
=H � ��� D��RD���
O���O� � ��µ«H � ��� D��RD���
O� � � 
Q� � HV���RH � ����N���X� � g��������N����
��
� � _1���*� � ����HIE����M���	� �
C;� [ ������� ���o� � � �����W����
Z�I� � _¤���W� � ����HIE����M���	�G�����

 
 F � ���M��� � ��
 ��� D0 → K− π+ \ D+

→ K− π+ π+ \ D+
s → φπ+ \ Λ+

c → pK−π+ �A�Y��� [ ������� �`� � ����
"�J���R� � � 
M��� Rint

F ��� � ����
� � ����
 D0 → K− π+ π− π+ \ D+
s → K∗0 K+ ���

D+
s → K0

S K+ � C � � ��� � � � 
 � � ����
��I� � _� � ���X� � ����HIE����������U�R�	�
� � ��D�������� � ��
�����
QF�� � �
�RH � ����
 φ→ K+K− \ K∗0 → K−π+ �A�
K0

S → π+π−��
L�Z����H�� � 
��"�K����
*�R��
 � ��F�F � � ��
 Rint

\¯F ��� � ���1��D�
��R�	��D�� � �J�
� � � D+
s → φπ+ \ � � � �����R�R
��G� � ��H � �

Rint ≡ B(φ→ K+K−)
�

� � ���*���N��D�
��R�	�
D�� � ���
� � � B(C → Xc) σB/B
D0 → K− π+ 0.0380 ± 0.0009

I�� � �
D+ → K− π+ π+ 0.091 ± 0.007

�`� � �
D+
s → φπ+ 0.036 ± 0.09

I���� � �
Λ+
c → pK−π+ 0.050 ± 0.013

I���� � �
�����g	s��
������ - � �  �*5&)( - �#9���*1$ *1�?�&�@=x(C��$ - ��(+*40 �D*1� *1(C(+*1��(40)


� ��� � H�� Rint Rint σRint
/Rint

Rint ≡ B(D0→K−π+π−π+)
B(D0→K−π+)

1.97 ± 0.09
���o� �

Rint ≡ B(φ→ K+K−) 0.493 ± 0.010
I�� � �

Rint ≡ B(D+
s →K∗0K+→K+K−π+)

B(D+
s →φπ+)

0.632 ± 0.068
× ��� � �

Rint ≡ B(D+
s →K0

SK
+→π+π−K+)

B(D+
s →φπ+)

0.348 ± 0.055
×§��� � �

�����g	s��
��a�
Rint

	O������(,�3*����B*�
"*1�
*1(1(+*1��(40)




��� Ø�� C¯�NH·E�� � ���N����
���D�
 � ��
��^�V� � _ × �7Ø
 "!�� ��- (��j' $ < - /1-�.?< "�.¯@Z):. > -�'Z8��

� �A������
���HA�
� � � F � D�
������
��� � ����
����X�����¦����
 � D�
 � �R�
�J�

 � ���
��� � 
�\=� � �J� � � � �K����
1���¤
���� � ���J��� � �
� � ���
� � � � � � 
 ��D���D � � h`� ���GF � �R
N�K����
*����
N� � ����D���
 ������� � �q� ��� � ����
(�I� � _����"� � ����H·E��������	�
B(B → D0/D0X)

��� B(B → D+
s /D

−
s X)

\ � ���1� � g��������1F � ����D � D��:����
G� � ����
 � �
�R���R
�D�
B��
L�� D������R
�D���\������R�OF � �����M����H � ��F����=� � ����
����X�����O����
q� ��� � � � 
|H � ��� D��RD���
q�A�|� � ��µ H � ��� D���D���
������ � ��HIEK� h	� �� � ���i������D�
������
D�� � ���
� � � d � � � � � ��� �����A_�� ¶|fA�Q£ ����
Y������� � ��� k � ��F�� � �
�R�j���iH������
��
���HA�
� � �9\|����
�I� � _����"� � ����H·E����M���	�*HV�J��H � ��D�
N
 � �	� � D�
 � ��D�
*�A�Z�J����D�
*
�����D�H���
�

�J� � �J\;H���H���F^� � �����N���"H�����H � µ��� � ����
*� � �X� � ��
*� � g�����
Z��� h	� � � 		
BHIEK� � ��D�
*D�����
(�K����
*����
*��D�
��R�	��D�� � �J�
� � ��
N����
Z��D�
 � ��
 B �
N0
c = B(B0 → cX) d � � �X� � �"� � g�������� h	� � � 		
ZH � ��� D��RD�
ND�����
(�K����
*����
N��D�
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+ 15 ± 6 0 26 1.8 ± 1.9 ± 0.1+0.7

−0.4

Ds

H � �X������D 1.3 ± 1.0 ± 0.1+0.4
−0.3

×�� �
Λ+
c → pK−π+ 48 ± 10 0 76 5.1 ± 1.2 ± 0.3+1.8

−1.1
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� � ��� N recul
Xc

NBG
Xc

NBG
B+f B(B → CX) Btrue d � f

D0 → K− π+ 343 ± 23 14 182 9.4 ± 1.6 ± 0.4+0.2
−0.2

D0 → K− π+ π− π+ 284 ± 34 5 1245 9.5 ± 2.7 ± 0.7+0.5
−0.5

D0 H � �X���R��D 9.6 ± 1.4 ± 0.4+0.2
−0.2

����×
D+ → K− π+ π+ 371 ± 27 17 462 3.2 ± 1.2 ± 0.3+0.2

−0.2

Ø�� �
D+
s → φπ+ 80 ± 10 2 28 14.5 ± 2.2 ± 0.9+5.0

−3.0

D+
s → K∗0 K+ 54 ± 9 2 34 14.2 ± 2.8 ± 1.0+5.2

−3.3

D+
s → K0

S K
+ 43 ± 9 2 48 11.6 ± 2.8 ± 0.6+4.6

−2.9

Ds

H � �X������D 13.8 ± 1.6 ± 0.6+4.8
−2.9

×`Ø���×
Λ+
c → pK−π+ 10 ± 6 0 48 −0.1 ± 1.0 ± 0.0+0.0

−0.0
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��^�V� � _ × � �
� � ��� N recul

Xc
NBG
Xc

NBG
B+f B(B → CX) d � f

D0 → K− π+ 2872 ± 62 203 783 78.5 ± 1.8 ± 3.1+1.9
−1.9

D0 → K− π+ π− π+ 2193 ± 79 161 5794 76.0 ± 2.8 ± 6.0+4.2
−3.8

D0 H � �G������D 78.3 ± 1.6 ± 3.1+2.0
−1.9

D+ → K− π+ π+ 649 ± 44 96 1840 10.0 ± 0.8 ± 0.5+0.8
−0.7

D+
s → φπ+ 26 ± 7 5 38 2.2 ± 0.7 ± 0.2+0.8

−0.5

D+
s → K∗0 K+ 13 ± 7 0 57 1.6 ± 0.9 ± 0.1+0.6

−0.4

D+
s → K0

S K
+ −2 ± 4 5 31 −0.2 ± 0.6 ± 0.0+0.0

−0.0

Ds

H � �X���R��D 1.1 ± 0.4 ± 0.1+0.4
−0.2

Λ+
c → pK−π+ 75 ± 13 3 148 2.8 ± 0.5 ± 0.3+1.1

−0.6
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� � ��� N recul
Xc

NBG
Xc

NBG
B+f B(B → CX)

D0 → K− π+ 336 ± 26 60 352 8.4 ± 0.7 ± 0.4+0.2
−0.2

D0 → K− π+ π− π+ 267 ± 41 36 2362 8.5 ± 1.4 ± 0.8+0.5
−0.5

D0 H � �X���R��D 8.4 ± 0.6 ± 0.4+0.3
−0.2

D+ → K− π+ π+ 172 ± 30 48 1115 2.6 ± 0.5 ± 0.2+0.2
−0.2

D+
s → φπ+ 123 ± 14 8 56 10.7 ± 1.2 ± 0.7+3.7

−2.2

D+
s → K∗0 K+ 101 ± 13 7 87 12.7 ± 1.7 ± 1.3+4.7

−2.9

D+
s → K0

S K
+ 65 ± 12 3 100 8.8 ± 1.7 ± 0.5+3.5

−2.2

Ds
H � �G������D 10.6 ± 0.9 ± 0.5+3.7

−2.3

Λ+
c → pK−π+ 56 ± 12 3 112 2.1 ± 0.5 ± 0.2+0.8

−0.5
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q��� wC F ��� � ����
 B+ ���|F ��� � ����
 B0 \�����
q�R����� �
��
�\�HV���RH � ��D���
�K����
X� ��� �����·_��!�*\ 
 � �	�G� � ����D���
GF ��� � � � �������V� � ���WH � ��� ����H��1��� 90 %
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n0
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 � ���Z����� � k 
Z� � �¤��H�H � � �����	� � ��� � _]\+�§����HM�R��
NF � D�����HA�
� � ��
�
E�D � � � h	� ��
=��������
 � D�
 � ���I�J��
=����
��·_�F^D � �R����H���
�F � D�H�D��������
��
 d � � � � ���X
���HA�
� � � ×��QI����	f·� C¯��
 � D�
 � ���I�J��

 � �	�c�R��� � 
�� � D�
=� � ��F�E�� h	� ���M���	��
 � � ���"� ��� � � � ���JI � \����N� � 

�J����� � ��F � D�
����	���B�R��
�F � D�����HA�
� � ��
=�
E�D � µ� � h	� ��
|�A�Q����
qF � �����

q�R��
q��� � _�����
 � � ��
 � ������� � ��
Q�RH�� d B HIEK� � ��D�
|��� B ��� � � � ��
 f \`�R��� � �J��HIE����������
����M� µ �R��F�� � ��� h	� � � �����R�R
�D(��
��c���G� � g��������*� � ���������R� d HAb � � ×aI � f·� � �;
����X����� h	� �*����
�� � ����D���
c�·_�F^D·µ� �R�M���	�
���R��
NF � ���`���RD���������� � ���MD�HIE����R������� � ��� � � �M������

�J��� � � b����������"���Y� ��� � � � �"��� µ/mb v 0.5
���



×H� � � EK�JF��R� � � ����� � � � � H���� � �:����H�� � 
��R���(���NH·E�� � ���N�K�J��
�����
=��D�
������
D�� � �J��� � ��
=����
���D�
 � ��
 B
£ D�
��R�	��D�� � �J�
� � ��
 � � ��� D��RD���
 � �	�
� µ H � ��� D��RD���

C B(B+ → CX) d � f B(B+ → CX) d � f
D0 78.3 ± 1.6 ± 3.1±+2.0

−1.9 8.4 ± 0.6 ± 0.4+0.3
−0.2

D+ 10.0 ± 0.8 ± 0.5±+0.8
−0.7 2.6 ± 0.5 ± 0.2 ± 0.2

D+
s 1.4+0.6

−0.5 ± 0.1+0.5
−0.3 10.6 ± 0.9 ± 0.5+3.7

−2.3

Λ+
c 2.8 ± 0.5 ± 0.3+1.1

−0.6 2.1 ± 0.5 ± 0.2+0.8
−0.5

Ξc 2.1 ± 0.5 ± 0.2+0.8
−0.5

��D����R����D��HIEK� � � � ��� � � 2.3 ± 0.3 2.3 ± 0.3
N+
c(c) 97.0 ± 2.0 ± 3.7+2.6

−2.2 26.2 ± 1.3 ± 1.0+3.8
−2.3
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N+
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� = - (C����(  �* ��� 249�� - � �������E���
tag−

� ��*1( ��5q�H�H0H* �~
£ D�
��R�	��D�� � �J�
� � ��
 � � ��� D��RD���
 � �	�
� µ H � ��� D��RD���

C B(B0 → CX) d � f B(B0 → CX) d � f
D0 47.0 ± 2.0 ± 1.7+1.3

−1.2 8.3 ± 1.4 ± 0.5 ± 0.2
D+ 37.0 ± 1.7 ± 1.5±+2.6

−2.3 2.3 ± 1.2 ± 0.3+0.2
−0.1

< 3.9 %
D+
s 1.9+1.1

−1.0 ± 0.2+0.6
−0.4 13.9 ± 1.6 ± 0.6+4.8

−2.9

< 3.6 %
Λ+
c 5.1 ± 1.0 ± 0.5+1.8

−1.1 1.7 ± 0.9 ± 0.2+0.6
−0.4

< 3.1 %
Ξc 1.7 ± 0.9 ± 0.2+0.6

−0.4

��D����R����D��HIEK� � � � ��� � � 2.3 ± 0.3 2.3 ± 0.3
N0
c(c) 95.0 ± 3.1 ± 3.5+3.5

−2.9 28.5 ± 2.6 ± 1.1+4.8
−3.0
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C w+
C

��� d � f w0
C

��� d � f
D0 9.7 ± 0.7 ± 0.1 15.0 ± 2.2 ± 0.6
D+ 20.8 ± 3.5 ± 0.0 5.8 ± 2.9 ± 0.6

< 9.8 %
Ds 88.5 ± 3.8 ± 0.2 88.0 ± 6.7 ± 0.5

> 79.1 %
Λc 43.1 ± 7.1 ± 0.1 24.8+11.9

−12.1 ± 0.3
< 40.3 %
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C¯��� � �X� � ����� h	� � � 	`
QHIEK� � �MD�
|H � ��� D���D�
|�M��
 � � Dc��
�� 0.97±0.05
�K����
|����


B+ �A�
0.95±0.06�K����
1����


B0 �=� ��
:��� � _ � D�
 � ���I�J��
1
 � �	�1H � �MF��J�
�R���R��
Y���	� � � � � _ ���1���c��
��:�R�	�
D � ��
�

�J�	�:���¦����
H � �MFK� � � � P¤����F � D����RH���� � ���
E�D � � � h	� �¦��� Nc = 0.974 ± 0.009
� � �	�W� � � ��� � � � ��
L�W� � k 
Yb����R�����H � �	� � ��� � ����������PGH������R�(
 � � nc � C;P"����H � � ��\K� � �A_�F^D � ������H��N��
������i��H�H � � �i�V����H*���X��E�D � � ��� �
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C;��F � � � � HA�
� � �i���ZHIEK� � ���*H � ��� D���D*��
��7� � ������D��NFK� � ����
��MD�
 � ��
 D d D0 +D+ h	� �+� � ���������¥�� � �M
 � �M��D�
*HV� � ����
 D∗+ 
��Y��D�
��R�	� k � � ���	�B�M��´ � � ���I�J� � �������	�*��� D0 f·�o¶ �R��� � ��F � D�
������
� 88.3 ±

1.8 ± 3.9 %
����
M��D�
��R�	��D�� � �J�
� � ��
G����
 B+ ���

84 ± 2.6 ± 4.0 %
���jH����R����
G����


B0 \�H���
���� � _�J�J��� � � 
(
 � ���*H � ��FK�J�
�R���R��
7���N��D�� k � ���������NF�� � 
(D��R����D���
 h	� �"���W� � g�����������HA� � �����R�X�M��
 � � D��"FK� �� � �A_�F^D � ������H�� � C ¶Q¡ d 
���H��
� � � ×��QI����	f � 80.0 ± 3.9
�



×H��I � EK�JF��R� � � ����� � � � � H���� � �:����H�� � 
��R���(���NH·E�� � ���N�K�J��
�����
=��D�
������
D�� � �J��� � ��
=����
���D�
 � ��
 B
� �9���:���"���(��¥����aF ��� � ���XF � � � � H���� � �:��� D �����
� µ H � ��� D���D�
OF�� � 
=D����A��D��N�K�J��
�H������
�*���K�J�Rg`
��J\���i� � g��������M� 10.8 ± 1.0 ± 0.7 %

\ h	� �ZH����R��� � ���
��� � �Z��� � �
���R�R

�J�	���R��
����R��D � ���	����
��M��
 � � ��
7�JHAµ� � �����R��
 d 
���H��
� � � ×��JI����	f � 6.6± 1.7 %
��¶ ���R�c��
���\�F�� � H � �	� � �J\����W�A_�H������R�����=��H�H � � �1�V����H7���*�M��
 � � �� D�H����	�
�*���N���GH � ������� � � ���
� � � £a¶ C � � �(��� � ��� B(b→ D0X) + B(b→ D+X) = 9.3 ± 2.2 %

�
C;�NF � � � � HA�
� � ����� Ds

H � ��� D���D�
|��
�� � ��
�� � ��D��cF ��� � ���(F � ����� k � �=b � ��
��K����
q����
q��D�
��R�	��D�� � �J�
� � ��
����
M��D�
 � ��
 B H·E�� � ��D�
 � C;��F � � � � H���� � ���R��H�� � 
������:��� Ds

F^� � �M¥�� � �jH � �MFK� � D��jP�����F � � � � H·µ�
� � ���R��H�� � 
������:� � �I�J���:��� Ds

�M��
 � � D���FK� � ����
M�A_�F^D � ������H���
 � C ¶|¡ � Ø�I �Z� B(B → D±
s X) =

11.7± 0.9± 2.9 % ��� ��� ����� � Ø;× � � B(B → D±
s X) = 10.9± 0.6± 2.7 %

��¶ �R���c��
��=���1� � �1��HAµH � � �Y���R��� h`�]��� �WF^� � F�� � 
|D����A��D��c�K����
Q�R��
Q��D�
��R�	��D�� � �J�
� � ��
|����
 B0 � C+�*H � ������� � � ���
� � � £a¶ C � � ��"D������R����������� � ����D � �iHIE���� � � � D�H����	�cF ��� � ���GF � � � � HA�
� � �j����H�� � 
������(��� Ds

���	����µ«H � ��� D��RD�
(��� � �q�
BR(b→ D+

s X) = 10.1±1.0±2.9 %
\�������H�H � � ���§����H=���7F � � � � H���� � �"����
 � � D���������
�����
���D�
 � ��


B
�
C;��F � � � � HA�
� � ��� � �I���R����� �K� � g � ��
 Λc 
����X��������� � � � �JH�H � � � �§����H �����J�J��� � � ��HA� � �������¤�

B(B → Λ+
c /Λ

−
c X) = 5.5 ± 2.0 %

� Ø^Ø � � �cDV�J��� � ����
�\;��� � D�FK� � �
�R��� � ������� � � Λc H � ��� D��RD�
Z�A� Λc�����
��µ«H � ��� D���D�
Q��
L����
�
����(���R��D � ���	���a���aH��������c����
 � � D��(F�� � � � �A_�F^D � ������H�� � C ¶|¡ � Ø�� � h	� �]� � ����� � �F ��� � H����	�I�J��� d FK� �=� ��F�F � � ��P"���GF � � � � HA�
� � �:� � �I�J��� f ��� Λc �J�	�
� µ H � ��� D��RDaD������;P1�
wCLEOΛc

= 13.8 ± 9.2 % d ����×aI�fC;�G�J�J��� � � �M��
 � � D��*�K����
�H��A�����Z���K����g�
�� d [ �����R� ����× � f ��
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 � � ��
 h	� �¯
 � ����H � ��FK�J�������R��
 �



������� � ��F � ��
�� � �1����
�FK� � �
�RH � �R��
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�� � � ���
���K�J��
q���S= - (C�;��* ��(+*491���6� � C¯��
 h	� ��� � ��µ�����HA�
� � � 
|� � �MD�
 � � Brecul

�A�|���
Xc(c)D��
���	�7H � ��� � 
�\�� � ����F � �R
�� � �j���Z����FK� � �
�RH � �R� Xc(c)

�K�J��
7��� � D�b�D � ���	�������+��� Brecul

��
L�a
�����F��R���������� � ����D��WFK� � ���:b � � � � �R��� � � �`� 
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C���������������������������� ����D��!�XH������"��H!#�D��!�BF%$ � �&���A_�F^D � �"�!��H!� �
� �����('��*) H��YPi�"$ � �!��$ � h,+ $-������� + µ���"��� ����#�D7b.� + � �����(F%$ � �q¶t� µ � �/�!��# + �0#1� ��� $�����# � k �=b2$§� � � $-�����NP"�3��D4# + ���5�����6��D����"�,#�D '�� $7#
��� ���8���!��*$V� � + � �t�"� + � �����!9 � �:��� �,#t�����;��D!�����,#
D '�� $<#
�"�-���oE%$-� � � ��� h,+ ���=�4#>���XF%$ � #
�RH + �R��� � �"�!�=��D!�����,#�D '�� $7#
��� ���HIE%$ � ��D!���?�����?��D���� ��� B h,+ �	� �,#�D!#�D*�3�@�-��´��4#�F � ����H���F%$��A���NH!�!#�#*�B$-��$��RgC�1�79£ � + ��FD���"�E#F���X� + �"F�� + �G�A_�F^D � �"�H���E#I$��T\�´!�J$�� � DK$J������D + ���L��D��"��H!#
��� �M�
��D���D!�����H���E#*�BNUE�$-��E%$-�
� $7���O$7#���b.� h,+ �
����� � $J��#=F � �`HIE%$������!�P�!�,#=FD� � �P�4#1# � �F��� � D!� + � � �(�3�J$7��gC�MD4# � �"�Q���(H·E�$ �1' �F��$-���=�O$ � �AµH��-����# � + H4#
�"�-�0�����6# � $�H!���?$ + ����� �K$ + ���N�O$XH·E%$7�L� � �*PX�K�"�!9

� �5# � $§�<$����
���5#�E k ����$�D4#
D*H��-���*$�H � DBP"�O$GH��-�MF � D�E��!������� �R���!�S� � � ' �������8���*�O$GF � �C� + H!#��"� �0���
h,+ $ � 	C�cHIE%$ � ��D��?�%$-���c�"�!�?��D����"�E#
D '�� $7#��"� ���6���!�Q��D���� ��� B 9^C��@� �`´���H!#
��b>�P$�´�� + � D!#*$���#?���T��D�F%$ � � ��"�!�aF � �C� + H!#��"� ���aHIE%$ � �MD!���(H�� ��� D���D!���F�4#T$-�E#
� µ H�� ��� D���D!����\U�%$-���(����� B+ �!#(�"���

B0 \]H�� h,+ �=�
�J$V�7$��V#´1$-�P$�����D4#
D�b2$J��#W$ + F%$ � $§�<$-�,#�9 � � + � H����O$�\ + ���?��� + � ���R�"�6��D4#
E��C���6�
�@$-�%$J�RgC�1�6�1������µX�A_�H�� + ����� �6��������µ�"��H�� + ���R�-��$iD!#�D���D�� ���"��F�F^D!�-9 ¶ �R�"��FD� � �P�4#���� �Y��� + �����H���E#���� � ���"�A� � � H!����D��Z��$J�"�*D ' $������H���E#
���¦F � �C� + � � ���"�!�[���"�\# � �"� + #��"�-���P��� ���MF + �"����� �]���!�:F�$ � #���H + �"���YHIE%$ � �MD!������� � ��H!#1���H���E#��%$-���W�"�
� DAb�D � ���,#��"���	� + ��D���� �

B h,+ �¯�����6$"D!�M���1�!��9 � �!#1#1�T��D!#�E��C���5��D�H��!�1���V#*� + ��� h,+ $-�E#
�V#
DF���5��� ����D��!�
# � k �*���MFD� � #I$-�E#*���!#B����FD� + #B���-��HP$-�D� + #�� � h,+ �H�%$-���T���!�B�·_�F^D � ������H!���Zb.� ��H!#
��� ���%$7�,#T$§� ��HP���!�
+ ���"���!�cP B 9C	�!�S�H��� + � �!� � D�$�������D!����\	^`_ � $�F�FD� � #*�?�A�@�!��� � $-��H·E��!�P�!�,#S�!#S_��R�"���a#*�!�8� + F^D � �"� + � �!��\^H!� + � � �!�,#�O$G�P$�´�� + � �=F%$ � #
���8�����O$aF � �C� + H!#��"� �b����E%$-� � � ���qHIE%$ � ��D��W��$-���q�"�!�W��D!���"�E#
D '�� $7#��"� ���������c��D���� ���
B
9 ¡ ���!�d��D�� + ��#=�����:�H�!� + � �!�8�����8���-��� � �!�8�H�§g �����:���(HIE%$ � �H�aD����"�/�%$7���=�����:��D������,#�D '�� $7#
��� ������!�?�MD!�1� ���

B+ �!#
B0 �
N+
c = 0.970 ± 0.020(stat) ± 0.037(syst)+0.026

−0.022(B)

N+
c = 0.262 ± 0.013(stat) ± 0.010(syst)+0.038

−0.023(B)

N0
c = 0.950 ± 0.031(stat) ± 0.035(syst)+0.035

−0.029(B)

N0
c = 0.285 ± 0.026(stat) ± 0.011(syst)+0.048

−0.030(B)� �!���H��� + � �!����� �E#��!�Y$�H�H!� � �e$§� ��HY�����*F � D�����H!#��"� ���5#
E�D�� � � h,+ �!�B�!#B�P�-�,# � ���E# h,+ �������
�@�·_��"��#1�F%$-�����6���R��D � ����H!�6���-#I$7���"�:�%$-���q�"$(F � �C� + H4#
��� �b��� h,+ $ � 	,�|HIE%$ � �MD!�qF%$ � ����� B HIE%$ ��' D��W�!#qF%$ � �"�!�
B

��� + # � �!��9 � �6# � $§�7$J����$ND ' $J�"���H���E#W�H� �,# � D h,+ ���O$(H � D�$7#
��� �H����F%$J� � �!� ss PNF%$ � #
� � � + �������6�%$-����"�!�:��D����"�,#�D '�� $7#
��� ���/�����8�MD!�1� ��� B ���:HIE%$ � �P�F$X����� + �P$�� '�� Dc�O$���$7�1�1�a�"��FD� � #*$-�,#1�Q� +:hC+ $ � 	 sH��-�MF%$ � D!�"PWH!������������� h,+ $ � 	,�NF�� + �a�RD ' � � � u � + d \A� �M�P�!� + � �b$��"����� + �M#I$ + _M���L� � $7��H·E����H���E#
B(B+ → D−

s X)
����H��-�MF%$<#
�������G$§� ��H ��D � �j�
B(B+ → D−

s X) = 1.4+0.6
−0.5(stat) ± 0.1(syst)+0.5

−0.3(B) %



^§� I � � ��H�� + ���"� �
C $YF � �C� + H!#
��� � ���

ΞcΛ
+
c (nπ)

$WD4#
D��M���1���!��D��`��������H��L�!# h,+ $-�E#
�R��D���\A�P$�� '�� DZ�3�J$7���1�!��H��L���
�H��� + � �5� + #I$ + _d���5� � $7��HIE����H���E#Q$-���1��� + �����?��D!�����,#
D '�� $<#
�"�-���8���!�?�%$ � g-� ��� Ξc 9£ $-���q�"�8� + #c����H!� �MF � ����� � �����������R��D � ���E#*�W��D�H�$-�����1�H��������F � �C� + H!#��"� �b�����|F�$ � #���H + �"���tHIE%$ � µ��D�����\��"�!�:������# � �"� + #
��� ��� �!�:���MF + �"����� �P���aH����=F�$ � #���H + �"�!�/� �,#OD!#�DF�H�!� + � D!��� � � ��$XD ' $��"�!�P�!�,#Q� +h,+ �M�"$ � D!�1��� + #
��� � �!�e�P$-���1�H��$7� h,+ $-�E#*�H���\#�� + �H�*$-�H�P�!�,#B�D� �����MFD� + � $7#1#1������� � �b���!�B��D����"��µ
#
D '�� $<#
�"�-���G��� ��� + _�H�� � F��NF�$ � H!�!#1#1�b��D!#
E��C����\
�1$-���T$V� ��� � P � ��H�� ����# � + � � �G�"����� + _�� k �H�GH�� � F���9
�cD�$-���H��������\������ � D �%�·_��"� ���?����� � D���� �%$-��H!���S���5�P$-�1������F�� + �=D��"�A��D��!� � �!�����!�,#cF%$ � b.�����=�&���"�E#*� � F � DAµ#I$<#
�"�-�d���R��H��R�"�79

¶ �¦H!� ��H�� + ���"� �]\^�"$H��D!#�E��C���B�
�@$-�%$���gC�1�ZF � D!�1�!�,#
D!�G�RH�� �!�@�!��#F$§��D � D��B# � k �Q�A��HK$�H!�-9
���+�"�!�?#I$ + _����� � $7��HIE����H���E#H���!�
D0 �4#

D+ H!� ��� D���D!�L�1� �E#b�
��� � �!�b�!#b��D5´�P �R�"���a#
D!�XF%$ � �����L� ��� � + � �b��gC��#�DAµ
�P$7#
� hC+ ����\ + ���0�\#I$7#��"�\#
� h,+ �1F�� + �"�"��FD� � #*$-�,#1�[�1� � $���#"�"�E#
D � �����*$-�E#*�jFD� + � ���d��� ��� � � + _��H�C�����!9¶ �iF�$ � #
�RH + ����� � \�FD� + � �"�!� B0 � S �3�@�A�A�4#?���T��D��"$-� ' �G�4#��&������HK$JH���#�D5��� � ��H!� ����# � + H4#
��� �0�����

Breco
\F�� + �Qb2$��"����� h,+ �aFD� + � �"�!� B H·E�$ �1' D!��\�H��-�MF��R� hC+ ���,#U�O$T# ) HIE��-9�C����A_�F��"� � $7#��"� �����!�8��D�H�$-�����1�H���/���

��D!���"�E#
D '�� $<#
�"�-�[���!�8�MD!�1� ���
B
FU� + #8�1�aFD� + � � + �R� � �F�!� � ��H��-����# � + ���*$-�E#=F%$ � #��"���������b���,#Q�"�

B
���a�"$

= - (C����* � (+*C91���(�L\�F%$ � �A_ ����F����F��� � ��HIE�� � HIE%$-�E#S���!��F��"�-���8� + ������	 $-� ���8���:F�� + �8���(�O$BF%$ � #���H + �"�HIE%$ � ��D!� � ��H��-����# � + �V#*��\9PW�&���"�H$ ' �B����� � D!� + �V#I$7#1�F��� ����D!�5�%$7���(�3� � �����A_ � �I9 � ��H���FD� � �H�!#F��� � DAµ� + � � �O���:� � + ��#>���Ob.� ���GF%$ �t� $�F�FD� � #qP + ���8�MD4#
E��C���8��� � ��H!� ���\# � + H4#
��� �"F + � ���H���E#W�A_�H�� + ���R� �-9 ¡ �FD� + #�F%$ � �·_��!��F��"�(FD�!���1� � PX�&��D4# + ���F�����6��D������,#�D '�� $7#
��� ��� B → D(∗)D(∗)K(nπ) h,+ �
�·_�F���� hC+ ���,#�O$MF � �C� + H4#
�"�-�M���
D

$7�,#
� µ H!� ��� D��RD���9�C $��H��� + � �XF%$ � ������� � �����G�P�C�����
B → D(∗)D(∗)K

�A�@�·_`µF��R� h,+ � hC+ �@�!�	�`� � � � hC+ $ � $-�E#*�GFD� + � H!���E#5���GH��!�5��D!�����,#
D '�� $<#
�"�-��� � + ��� � ��H!� ���\# � + H!#
��� ��F%$ � #
�����R���F%$ � �P$-�1���[��$-� hC+ $-�,#1�WFD� + ��� $��V#BFD� � �H�!#�# � �[�
�@$�H�H�D���� � $ + _Y��D����"�E#
D '�� $7#��"� ��� � ���\#I$-�E#*�!�"H!� h,+ ��1�!�����"�������MH��������H�!�,#BFD� ���������"�[$V� ��H + ��� � ��H!� ����# � + H4#
�"�-���·_�H�� + ����� �:P¦H�$ + ����� + � � + ��#����Wb.�-���H��-�����"�%$<#*��� � �-9JC $aF � �C� + H!#
��� �L���
Ds

H�� ��� D��RD��tFD� + #qD ' $������H���,#t¥4# � �=D4# + ����D!�=F%$ � H��4#1#1�6��D!#�E��C���79� �V#*� ���B������� ���MH�$-�����M�O$jF � �C� + H4#
�"�-�e������$ � g � ��� Λc h,+ �|FD� + #X¥4# � �[$-�%$���gC��D!�YF%$ � �P$-���1�
�P$-� h,+ $-�E#*�J\E�
� + ����F%$ � #qFD� + � �"�!� Λc H�� ��� D���D��������W��D!���"�E#
D '�� $7#��"� ��� B → Λ−

c p(nπ)
\ �
�@$ + # � ��F%$ � #FD� + � ����� Λc $-�E#
� µ H�� ��� D���D!�5���!�B��D����"�E#
D '�� $7#��"� ����� B → ΞcΛc

\
B → ΞcΣc

9V9�9 £ $7���Z�"�"F � �����"� �HK$7��\]��� ����� � $J��#a¥!# � �GFD� ���������"�������P�!� + � � � �"�B#*$ + _ ���L� � $-��HIE����H���E#5�A� + ���L�����F��D!�����,#�D '�� $7#
��� ���
B → Λ−

c p(nπ)
F%$ � ��$-���1�8�P$-� h,+ $-�E#*��P p(nπ)

\-��� ��H8�*$7��� � ��H��-����# � + � � ����� Λ−
c

9 ¶ ��H!� ��b � � �,#*$-�,#H�� � D�� + ��#I$<#OP + ���Q�P�!� + � �aF + � �!�P�!�,#:�·_�H�� + ���R� �Q���7�"$B��¥��H�?��D����"�,#�D '�� $7#
��� �9\,� ��� ��#��"���E#U���?#I$ + _���M� � $-��HIE��!�P�!�,#0$-������� + Λ+
c → pK−π+ h,+ �F$�FD� + � �&���"���\#I$-�E# + ��� '�� $-����� �%$ ��� � �
�@� ��� � + � 9£ $-�����"�G��� + _�� k �P�(H�$-��\��"$��H��� + � �(F%$ � �P$-�1�1�F�P$-� hC+ $-�,#1�F�
� + ���5��D!�����,#
D '�� $7#
��� ��� + # g�FD�

B →
ΞcΛc

�*$7����$V� ��� � P � ��H!� ����# � + � � ����� Ξc

FD� + ��� $���#F��� ����� � + � #I$ + _ ���H� � $7��HIE����H���E#�$7���1��� + � +�%$ � g � � Ξc
\>���d��� + � ��$ + ����H��-�MF%$ � $-�E#"H��4#1#1�0�P�!� + � �jP + ���d�H��� + � �d�A_�H�� + ����� �0���:�"$M��¥��H�

��D!���"�E#
D '�� $<#
�"�-�
9
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� ��������� �

� �	� ����
R�
� � ���]
 �Z����
 ������� � ��� � �	�	����
 �

�	�����;�����O$?���������,#�� ' �1$7#���� �B�
� + ���!���� ��=������� +"!  %$#��#��$� + �"�!�&% ���!�'�����(���)�O$7#��"� ���;$-� ' + �"$#�$�����)% � + ���$ +"! �� ��"���B���*���!�+ %$#�\#��,� + �����T$# - %$#�1$#�"���1�!�,#/.10�24339 � �!���-����#��(�"� + #��"�-���T$7� ' + �"$#�$�����5 D�)�1�H�!#�#*���E#����
�-�����&�(�"�6�����)�7���F��� ' �%$#�
� +98 � �����!� ���-���%$7#*�#�,�1�;: + �<%%�!� ' �!�-�&�1$#�=%����5 -�(���1�!�,#1�> %$-�6���F#*�&�,�"�!�7�����(���@?
�O$<#���� ���!9BAG$-���C�O$T� + ��#*� −̂→O �-���(� ' ��� + �[�� ��&�1$7#*� + � #��(�D?=E �&�!#1�������&� (Ôx, Ôy, Ôz)

�4#
Ô + ���# ��&�*$<#*� + ��9

FHG&I J�KML N+O9PRQTS'U5QWV@N+O XYKMOZKCS[U5\)]
� $P�-�!�P�-����#��*$7#��"� �R�H���-�!�+�$�)� �!��#Q#��(^�� ' �!�-�&�1$#���#%D�&�,�"�Y�!� �-�!�&�1��� + � �(_C�\#�^��H�����B��� +"!  %$`��#��a?� + �"��� ���-#��!��� P1

�4#
P2

%`���c�P$-�1�����
m1

�4#
m2

�"��� + �!�;���b�"$8�-���(�"�,#�� ' �1$7#���� �5�
� + ���� �$#��#��$� + �"�dcW�*^)�1�[e
���-#����

M
9gfG�0���-#*� −̂→

S i

���F�� -���0���5�O$� %$#�\#��$� + �"� i �4# −̂→S M

������� ' ���5�"�G�� -���0���5�O$� %$#�\#��$� + �"� M 9h?� �i_C��#�^!�P� ���M��� +B!  %$#�\#��$� + �"�!�j D� + #d���k�!# + �-�"�)�d�%$7���9���l�����E#���� ��� �P$-�1���M��� �����d��� +B! %$#�\#��,� + �����8��m9�"�!�M�"�6 + �������-���:��� P1

�4#
P2

%%���-#��!��� −→p 1

�4# −→p 2

%%��� �,#?���-�-�F#*�)�$�"�!�7: + ���
−→p 1 + −→p 2 =

−→
0 npo 9�^rq

�  %$#�\#��$�5�
�k�,�&�=%
#1� + �>�����Y�*$#���1� �������H���,#1�B���&��� �,#��H���-�!���%$7���>�"�6�!���,#��1�������P$-���1�-9 � �&�&�b�1�@?EB�"�!�,#s%W�!� �H�P�b�!�e�*�)�K$-�-�,: + �6�&�O$7�1���,: + �#%ut��!# + �-�"�)�>���H�H� + E �!�P�!�,#B�A� + �� D�����,#T�P$7#��)���"�)�
P

��� %$#�1$-�6^!#������(�
−̂→p =

1

m1 +m2

×
(
m2

−̂→p 1 −m1
−̂→p 2

) npo 9wv�q
−̂→r = −̂→r 1 − −̂→r 2 npo 9J_xq
−̂→
L = −̂→r ∧ −̂→p npo 91yxq
−̂→
S =

−̂→
S 1 +

−̂→
S 2 npo 9wz�q

−̂→
J =

−̂→
S +

−̂→
L npo 9|{xq

µ =
m1m2

m1 +m2

npo 9w}�q
npo 9|~xq

^�~xz



^�~�{ o ����� ! � o 9 A � � ����#���� �d���!� ��� +  + �����?�
�����&�$�,�&�V#��
��m �"�!� −̂→r �-���(� ' �����E# �����  D� ���V#���� ���&% −̂→L �"�T�P�-�P�!�,#S�����-��#*$#� � + �i_ �\#�^!�P��������� +"!  %$#�\#��$� + �"�!�&% −̂→J�"�G�H� �H���E#C�&�"���!#��,: + �G#*�7#I$#�A�4#

µ
�"$��P$-�1���F��� �O$+ %$#��#��$� + �"� � �4#��,E �

P
9��?�-#*� ���6$#�"�#�1�C: + �5��$-���7�"���� 8 �&�����,#��"�)�	� + ���!�,#����T���5�P$-�1���"�

−→p = −→p 1 npo 9|0xq
fG�����7#*�

S
%
L

�4#
J
%��"�!� ' �*$7����� + �1�:#1�&�$����� : + �G� S(S + 1)~2 % L(L+ 1)~2 �!#

J(J + 1)~2 �1���V#
�1�!�� D�)�!#��DE ���H���E# �"���CE7$#��� + ���M -���� -�1�!�?��� −̂→S 2 % −̂→

L
2 % −̂→
J

2 9�	�!�Y�"�����F���6���-�L���"�%$#����� � ���!�T�P� �H���E#*� �&���-�!#��$: + �!�T��� �6�&��$-�-�,: + � : + $-�,#��$: + �H��� �������E#>�"�!�E7$`�"� + �1�?$#�)���!�1�����-�"�!� t S �4#
J
�

|S1 − S2| ≤ S ≤ S1 + S2 n o 9V^�2xq
|L− S| ≤ J ≤ L+ S npo 9�^-^rq

n o 9V^rv�q
��� � �R%g�"$  %$`����#��F� + �(_C�\#�^��H�T���\#Z�

η = η1 η2 (−1)l n o 9V^`_xq
� ����# −→z + �d$ ! �;: + �)�$�!� �-: + �`%��1���V# M �O$> -���	���&�!#��"� ��� + � ���4#6$ ! �G��� −̂→

J
%
M

 D� + #7 -�1�!���-�1�G���!�E7$`�"� + �1�6���E#���� −J �!#
+J

9 ���1�4#I$7#M: + $-�,#��$: + �5���5�O$� %$#��#��$� + �"� � �4#��,E �5���T�( -�"�
J
%%�!�1�)�&�(��#S$#�����1�a�

|P, J〉 =
+J∑

M=−J
AM |J,M〉 npo 9V^sy q

$sE �&�W�
AM

�!� �6 -�"� ! �!�Q#1�&��� : + �1� ∑+J
M=−J |AM |2 = 1

9Rf;�)% |JM〉 �1���-�&�!� �6 D� �1��� + �,E<$-�,# S�!#
L ' � ) ���T$ +B! ���C��
6�&�"�!�,#1�?��� � �"�!�����"?�
5�����%$-�

CJ
m,s

�
|JM〉 = CJ

m,s |L,m〉 ⊗ |S, s〉 npo 9�^�z�q
��m

m
�4#
s
�1� �E#5�1�!�� D�&�4#��DE ���H���E#>�����; -�1�	���)�!#���� ���G� + �DE7$-�E# −→z ��� −̂→

L
�!# −̂→

S n �-� $ ��� � ���G��q49
� ���V#L$#������� −→n �"$ �-�,�1�&�4#���� �Y��� −→p �%$7��� ���/��� 8 �)�1�!�,#����&�/� + �!���,#��1�����[�P$-�1��� n ��� �E# �O$R�%$-�1�[���\#���-����#�� + �V#*�Yt  %$`��#��,�:���5�&�@$ ! � −→z �-����tL�-� � ��� q49 −→n ����#?�-� � �-�T %$#�8�1�!� ���C�#�1��� ���-���!�  D���O$#�,�1�!�:�%$-������5��� 8 �)�1�!�,#����&��� θ % φ 9 �W�@$-�6 -�,�V# + ���G���5 -�1� ��$-�-�,�$�V#��; D� + �M: + �Y�O$� %$#��#��$� + �"� P �1���V#M���6�"�1�F� + �,E7$-�E#
−→n % $�E �)� s = s1 + s2

 D� + �M -�������)�!#��"� �d���5�1�-�R�( -�"�d� + �DE7$-�E# −→z �!��#?��� �-�5���-���-���5 %$#�N�

A(θ, φ)s = 〈θ, φ; s|J,M = m+ s〉 =
+L∑

m=−L

s=+S∑

s=−S
Am+sC

J
m,s 〈θ, φ|L,m〉 npo 9�^�{�q

f;� 〈θ, φ|L,m〉 ���\#  %$`�6�-� � �-��#��"�-�9�&���%$#���P�-�-�,: + �F�( ��-�)���$: + ���
〈θ, φ|L,m〉 = Y m

L (θ, φ) npo 9�^r}#q



o 9|v 9�� ��$#�!#��"� �
e+e− → Υ (4S) → BB

^s~x}
��� � �R%g�O$  -�������)�!#��"� �d��� −̂→

J
� + �M�&�@$ ! �5��� −→p ���\#S���"�6 -�����H���E#M�"$L�-��� �)�1�������T���!� �-�)�$�,�&�V#����8���!�

 %$#�\#��,� + ����� P1

�!#
P2

9����0���U�!# −→n .−̂→J = −→n .−̂→L + −→n .−̂→S = −→n .−̂→S �K$#� −̂→p .[−̂→r ∧ −̂→p ] ≡ −̂→
0
9 o �"�����=% ���

Λ̂1

�!��# �&���� ��&�1$7#*� + � �-�&�,�$�)��#��G���
P1

�!#
Λ̂2

�&���� ��&�1$7#*� + � �-�&�,�$�)��#��G���
P2

%%�-�R$:�
−→n .−̂→J = −→n1.

−̂→
S1 −−→n2.

−̂→
S2 = Λ̂1 − Λ̂2 n o 9V^�~xq

�	���CE7$#��� + �1�7 -���� -�����8��� �&���-�)�$�,�&�V#��S�1�)�1�-�,#?$#�����1�/�-�!��� ' �-���!�M %$#�a� λ1
�4#
λ2

 D� + �C�"�!�7 %$`��#��,� + �"��� P1�!#
P2

9
�?�-#*�-���d: + � θ �!��#[�3�J$7� ' ���W���E#��1� −→p 1

�!# −→z �%$-���d�"�b�(� 8 �)�1���E#����&�C� + �!���,#��1�/��� �P$-�1��� n �(� 8 �&�����E#��"�)����
P
q 9�fG�0���-#*�)�*$

θ ≡ θheli
9AQ$-��� �"$L� + ��#1�#%���� +"! �K$-�M�"�E#��)�1�����*$-�E#*�?��$-���M���4#1#*�T$-�%$#�D_ ���5�1�-�,# �!� �������-�&�(���!9

FHG�� � KMU���QWV@N>O
e+e− → Υ (4S) → BB

� �5�K$-�6�!��#S�(�"�6 -��� tL#��*$#�V#*�&�!9-� �
Υ (4S)

����# + ���!#*$7#*� JP = 1−
9� �-�������-�&��� ������$-��� + �  ��1���6���&�T#1���6 ��+�"�P�i_C��#�^!�P�

e+e−
9[fG�Z$R�%$-���+�K$7�

P1 ≡ e−
%
P2 ≡

e+
�!#
P ≡ Υ (4S)

9 � �#��# −→z �"$ �-�,�1�)�!#���� �Y���
e−

�%$-��� �"�/�(� 8 �)�1���E#����&�/� + ���!�,#��1�����[��$7�1�1�79[� $
 -�������)�!#��"� �0��� −̂→

J
% �� ��"�R� + Υ (4S)

% � + �,E7$7�,# �!�!#G$ ! �Y D� + #
	4#����M� −1
%
0
%
1 � �&�,�"�;E7$ + # � ' $#�"�!�P�!�,#

n � 8 9�� : + $<#��"�-� o 9�^s~xq*�
λe− − λe+

9Tf;� ����� �&���&�!#��1� ���G�1� �E#F���!�  %$`��#��,� + ����� �1�&�"$7#��DEB�"�\#*�!�Q�����P$-���1�
�-� ' �$� ' �K$7�-���F���)E<$-�,# �"� + �M�"�6 + ������� �A9 AG$7��� ���5�K$-�?�����?��$-���1�!�S� + �$�"�!�&% �3�����&�,�$�&�a#��F�
� + ���Y %$#��#��$� + �"����\#B�-� ' $7#��,E �b�4#Y�&���-�&�,�$�)�V#����
� + ���P$7�,#��a?  %$`��#��D� + �����!��#> D�-����#��,E �`%
��� �-� �$�)�O�

λe− − λe+ = −1/2 −
(1/2) = −1

9 � $  -�1�	���)�!#���� ��� + �� ��"�d� + Υ (4S)
� + �,E7$7�,#M�&�@$ ! � −→z �!��#?��� �-�5� ' $#���5t −1

9 � � : + ���� ' �-� � � : + ��� A1 = 0
%
A0 = 0

�4# |A−1| = 1
9AQ$-��� + �b��� +"! �$^!�H�:#*�!�* ��&%-� � ���-�������-^&���7�"�/�(_C��#�^��H�6���!�W��� +"!  %$`��#��,� + ����� B−B 9��	�8�( -�"�L���

���5�(_C��#�^!�H�B���\#Z� −̂→
S =

−̂→
S B +

−̂→
S B

9g�	�!�
� : + $<#���� ��� o 9V^rv �"�6 D� �����,#M: + � S = 0 n �K$`�M�"�!�6�*�!�1� ���
B

�1� �E#����P�( -�"� � + � q 9df;� J = 1
%W�"����� : + $7#��"� ��� o 9�^rvd�H� �E#��1�!�,#Y� ' $`�"���H���E#Y: + ���(�

S = 0
�!#

J = 1
$#�����1� �"�B�H� �H���E#Q�#�1�-�V#I$#� �!�,#��1�������S��� +B!  %$#�\#��$� + �����S���\#G� L = 1 n ��� + ���+ D� �1�(�"�-�,�$�V#���q 9�� $ -��� �%$-�-�,�$�a#��6 D� + �+: + �j�"� B �1���V#��!�6�"�B�%$-���+�"�*��� 8 �)�1�!�,#��"�&� � + Υ (4S)

$sE �&� + �Z$-� ' ��� θheli  %$#��*$` - D����# t �&�@$ ! �5���!� 8 $#��������$ +"! ���\#S���-�-���
PB(θheli, φ) = |A(θheli, φ)0|2 =

∣∣Y −1
1 (θheli, φ)

∣∣2 =
3

8π
sin2 θheli n o 9V^�0xq

FHG�� ��O �CUYP PTV)L �9\)]��9]��ZKMPTV)O QWK7XYS[U5QWV)N+O�P ]MO �9]���� � N5S���P
� �� �$#�*$ ' �*$# ����+�!# + �-�"�+�����Q�-�!�����,#�� ' �*$<#��"�-��� S0 → P0V

 + ��� V → P1P2
��m

Pi
�!��# + �l�!#I$<#

J = 0
%
S0

� ' $`�"���H�!�,#8�!#
V + ���4#I$7# JV = 1

9 AG$-���M�!�5�K$7�6� �d�1�5 ��O$#�!�F�%$-���M�"�;��� 8 �&�����E#��"�)�
���5�"$ %$#�\#��,� + ��� V 9
���l�!� �������-�&�1$-�,#S#*� + #Q�
�@$-�D���1� % ���B�i_ �\#�^!�P�������Q��� +"!  %$`��#��,� + ����� P0 − V

%D� �  D� + #G�P� �E#����&�: + ���"$  -�������)�!#���� ��� + �� -��� ���
V

� + � �&�@$ ! � −→z �� - D� �(� t �O$M���$�1�)�!#��"� �Z���ZE ���8���
S0

��$-��� �"�



^�~�~ o ����� ! � o 9 A � � ����#���� �d���!� ��� +  + �����?�
�����&�$�,�&�V#��
��� 8 �&�����,#��"�)�;��� V �!��#��N�

λS0 + λP0

��m
λi

�-�!��� ' ���+�3�����&�$�,�&�V#��5���+�"$6 %$#�\#��$� + ��� i 9 f;�S�%$-��� ���+��$-�&%
S0

�!#
P0

�-�,# + �R�( -�"�d� + �<%���� ��� + ��� �-�)�$�,�&�V#��G� + �$���-9
��� ��� ���(�"�-�)�*$-�E# t; -�(���1�!�,# �"�/�i_ �\#�^��H�
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�

E

[
1

Xn

]
=

1

mn
×
(

1 +
n(n+ 1)

2

( σ
m

)2

+ o

{( σ
m

)3
})

n � J � v�q
f � � � ;�� D >�E � � �  �� � $6�$^)� � =# � -� Ds! ��$
=L;�� D � � � � � !  �� � ��� � D � � > � > � �$� � �  D >-�(�

E

[
1

Xn

]
=

1

mn
n � J � �xq

D > �'� � D � � �
σ2

1/Xn = E

[
1

X2n

]
− E

[
1

Xn

]2

=
n2

m2n
×
( σ
m

)2 n � J � y q
� �,� �  � �!$ � ; � �  -��> � B � �Q=`�$� >-� � � �K= � D EL=#���M= � � � B � � EG=`���K=G�-� � � 1/Xn1 � ; 1/Xn2

% >�;��$�,� � � � -�(�&�&� B � $�$ �'� ;Z�
cov

(
1

Xn1
,

1

Xn2

)
= E

[
1

Xn1+n2

]
− E

[
1

Xn1

]
E

[
1

Xn2

]

=
n1 n2

mn1+n2

( σ
m

)2 n � J � z�q
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� � � � ��� � ��
 � �	�R������� � ��� 
 � � � � � ���
� � � � � ��� � � � � B(B → Λ+

c Λ
−
c K)

o � � BH"k� ;!>&B-� � �Y�M=�B�� � � � ;�� P �!=G;�� D � B(B+ → Λ+
c Λ

−
c K

+)
%W:?>-�  � �!$ � ; BH"k�)EL=#�M> � �Y� � ;�=%> ! B �

�-�!= � � � � $ �'� ; B(B → ΞcΛ
+
c (nπ))

% D � � � � � � ��� � � % B&= � � � � � �@E�� �&� $ �'� ; �0D mN> � Λ+
c

D >�> � Λ−
c

=� ;��+� � � D � � ;��!>-�A;SB@= � � �M= 
1+0�����#( �[�@(4A��!) �-B � � "k�&� �@= � ;��,�$� D � tag−
% > � �L= D � � �@=#� P �> D�� �A;��DE � $ �'� ;

n $ 	'$ � � � P �&� :?> � � � B+ q B@= � � � � � ;�� =#� � � � "I=# - &=#��; �'� = � ; � � =%>
Breco

� � � D � � ;��!>-�A; � � =%>
Λc� � � D � � ;���>-��; n Λc B-� � � P �&� �$�)�R� � B-� � �&� � $�$ �'� ;7� � Λ+

c
D >9� � Λ−

c

� � � D � � ;���>-��; q J� � :?>@=%B����D?=E � �/; � >-� Qrecul

B&>N$6� �!D � B B � �M= 
1+0���9�#( ���4(4A���) � � � ;7� D �&� > n � � � ;�� D � � J y J � q %B� � �:?>@=%B-�(�D?=E � �/; � >�� � B&>
Λc

� � � D � � ;���>-��; n QΛc

q � ; � � :?>@=%B����D?=E � �/; � >��SB&>
K+ n QK

q �!D � ;;� P =#� � $ �'� ;� D �&� > �'J o � � � �R� � : >&=%B-���a? E � � ; � >-� B&> � � � ; � X B � �K=FB-� � � � ;�� P � =G;�� D � B+ → ΛcK
+X � � ;0B D � �"�

QX = Qrecul −QΛc −QK n�� J � q
Qx

� � ; � D $ $6��:?>@=%B-�(�D? E � � ; � >-�5$ = � :?>@= � ; � ; � = � D �!$ � B � � D � �'� ;@�#%7$ = ��� � $ = � :?>@= � ; � mX
J

� �<% B �  -��> � % �$� � " = P ��; BH" > �&� B-� � � � ;�� P � =L;�� D � B+ → Λ+
c Λ

−
c K

+ =`� D � � % :?> � �#" D � =#�A;
Λc ≡ Λ+

c
D >

Λc ≡ Λ−
c

�
mX =

√
Q2
X = mΛc ≈ 2.285 GeV/c2 n�� J v�q

� � ;!; � $*�/; � D B � =5�/;��0=# - -�,�$:?>-� � t � "k�&� �@= � ;��,�$� D � tag−
c � � �(_"� D D�� � e J ��= � � P >-� � � J � �$�,��> � ;�� �� � �(� � >���;�=L;s%`t P =%>-� � �  D >-� Λc ≡ Λ−

c n Λc � D ���(�&�$� � q � ; tEB-� D ��; �  D >-� Λc ≡ Λ+
c n Λc = � ;��D? � D ���(�&�,� � q J

� � � $ = ��� � � $
= � :?>@= � ; � �3�!D � ;5���'=#�,� � � � � �'� �&� � D � � � �iEG= � ;>:?> � � � � �)E�� �&� $ � � ; �  D >-� � � � :?> � � �
|mpK−π+ −MΛc | < 2 σΛc n MΛc

� ; σΛc

�!D � ;7� � �  � �/;��DE � $ �'� ;M�K=C$ = �!� � � � � ;��!=#� � � ;7� "k�&�'=#��;i? ; _B �
B � �M= P =G> �!� � �'���&� >R;��$�,� � � �  D >��-= ��> � ; � � � � � � P � =#�RB � Λc q � ; mES > 5.274 n �-� � ; D P � =%$�$ � �'� ;��!=#��; -� � � �
� D �,� q J � "��-� � ; D P �!=%$�$ �E�'� � D > P � �@=`� �?>-��� � �  -�(� � �'� ; � �K=>� D � ;������&>�;�� D � B � � �)E�� �&� $ �'� ; � B �86D � B�� D $F�-� � =L; D �,� � �@EG=#��>-� � t  @=`��;��,� B � � �Q= � B-�MB&=G; � B � 86D � B � D $F�-� � =L; D �,� � =s_ = � ;F> ��� $ = ��� �� � EG=#�(�K= � ; � � � � D $6 @=G;����-� � =sE � �5� � �,� � BH"I> � Λc J��= $ = �!� � B&> �@=#�i_ D � Λc

� � ;NB � 2.285 GeV/c2
� � � �K= B-� � � � ;�� P � =G;�� D � B+ → Λ+

c Λ
−
c K

+ -� D B&>-��; ; D > � � � � Λ+
c n = � ;��a? � D �����)�$� � q D � =G;!; � � B =`� D � � �xz+�'= � B-��B@=G; � t 2.285 GeV/c2

 @=#� $ = ��� �
$ = � :?>@= � ; � t Λ+

c K
+ � ; �xzZ�'= � B-��B@=G; � t 2.285 GeV/c2

 @=#�5$ = �!� � $ = � : >&= � ; � t Λ−
c K

+ J � �
� D $F��� � B � �Q= � B-��B@=G; � � � ; D ��; � � > tj @=#��;��$�SB � �M=��	=%�-� � z J � �j� D �(��� P � � B � �#" � 
6�Q=#�)��;�� B � � � D >"? &>-� � � � |mpK−π+ −MΛc | < 2 σΛc

%
mES > 5.274 GeV/c2 � ; B � � " � 
6�Q=`�&��;�� BO"1��B �'� ;�� � �Q=G;�� D � BH"I> �

v#2��



v#2#y o �&�&� ! � � J �W��$6�A; � � >- ��&�(� � >-� � � >-�M� � ;�=G> ! B � �-�!= � � � � $ � � ; B(B → Λ+
c Λ

−
c K)
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4 + K+
cΛ ≡ cX

���
	������
����( +%�4�U(�<�+0$49 �5+0$>�Y( �
Λ−
c K

+ � 7�+0� A��>( (��
Λ+
c K

+ � &0�@"%�
�Y( �

�L= D � � �&=#� P � n �&���A;�^)� � � � �
	�� �Wq"�
εK = 70 % J � >-�>�M= � � P >-� � � J � %W�M= B�� � ;������&>�;�� D � �'� $
= ��� �

$ = � :?>@= � ; � t Λ+
c K

+ n tSB-� D �A; � q � � ;  -�M> � � ; =#�$� � %#�G" � � ;  D >-�(:?> D �=% � � >-� � �K=EB-� � ;������&>�;�� D � �'� $ = ��� �
$ = � :?>@= � ; � t Λ−

c K
+ n t P =G>-� � � q � � ;�>�;��,�$� � � � J � �,� �  ���� � �'� ; � ;�� D � � �@E�� �&� $ �'� ; � � D $6 @=G;��M�-� � � =�E � ��K=S$ = ��� � BO"I> � Λc n ��= 8 �'� 	 ;�� � �'� $
= �!� � >�;��$�$� � � � � � ;�� |mX−mΛc | < 3∗σres

=�E � � σres �M= ��� �!D ��>"?;�� D �
� � $ = ��� � $ = � :?>@= � ; � : >�� � � ;C D >-� � � ; _B � B � $ = �!� � B � 25 MeV/c2
q J � � � >- - D%� = � ;7:?> �

; D > � � � � �'= � B-��B@=G; � D � � � �(E�� �S��D � ;0�-� � � � ��� > � B � B-� � � � ;�� P � =G;�� D � � B+ → Λ+
c Λ

−
c K

+ % D � D ��;�� �'� ;
B D � �>t 0�2�� B � � �DE � =G> B � � D � � = � � � % > �&� �$��$6� ; � � >-�M� �3� D $ ��� � B � �Q= � B-�MB@=L; � NΛ+

c Λ
−
c K+

�
NΛ+

c Λ
−
c K+ < 5.32 n � J �xq

o � � BH" D ��; � � �,�5� � ;�=G> ! B � ��� = � � � � $ � � ;&%W�$� � > 
�;CB � � ��� D ��$
=`�$� � � �; @=#� � ! � $6 -� � =G> � D $F�-� �
B � Λ−

c
D ��; �'� > � B@= � � � � � � D � B-�A;�� D � � n � 8 J ��=G�-� � z J � �xqC:?>-� � � ; NΛ+

c
= 35 J f � D �R;�� � � ;E=`� D � � > �

;�=G> ! B � �-�!= � � � � $ �'� ;EB � B(B+ → Λ−
c Λ

+
c K

+) = 0.15 % � ; �K=��$��$6�A; � � D ��� � �  D � B@= � ; � �
B(B+ → Λ−

c Λ
+
c K

+) =
NΛ+

c Λ
−
c K+

εK ×NΛ+
c

× B(B+ → Λ+
c X) < 0.3 % @ 90 % CL n � J yxq

� � ;!; � :?>@= � ;��A;�� � � � = � � P �,� P � � B � EL= � ; � � ;�=G> ! B � �-�!= � � � � $ �'� ; B(B+ → Λ+
c X) = 2.1 % � ; D �

>�;��$�$� � � �!= n � D � � >���; � �M�K= � � � ;�� D � � J v J z J v�q7�
B(B+ → ΞcX) = B(B+ → Λ+

c X) n � J z�q
h �&� $*�/; � D B � � ��$*�,�M=`�,� �  D >���� =#�A; 	 ;�� � =# - -�,�$:?>-� � =G> ! B-� � � � ;�� P � =L;�� D � � B0 → Λ−

c Λ
+
c K

0
S

JA = � � � � �Q= � %u� ; = � ;CB D �&� � � �#" � 
6�Q=#�)��;���B � � � � D � � ;���>-� ;�� D �)� ;+� � ;�=%> ! B � �-� = � � � � $ �'� ;+� � ; � �i?
$6�'B-�M=#�,� � B � �K=FB-� � � � ;�� P � =G;�� D � K0

S → π+π− � ; �/;�= � ;0B D �&� �5�K= � ;�=G;�� � ;��$:?> � P � D �@=#� �  -��> �78 =`�M�-� �:?> � B@= � � � � �Q= � B � � B � �@=`� P � � %�� � ��� � >-�A;�=G; � � $F�-� �  � > � � P � � � �'=G;�� 8 J ��= $6� ; � D B � = � �Q= � $ D � � �� ;��5; � � ;�� � % D � D � � � �(E � > � � � >-�W�Q= � B-�MB&=G;M� D $6 @=G;��M�-� � =�E � �5> � Λc
% � � :?>-� 86D >-� � �A;M�M= �,�M$6� ; � n �'� -� �'� = � ;0> �&�5� 
6�Q=#�)��;�� B � � � � D � � ;��!>-�/;�� D � B � � K0

S

� � ;EB � 50 %
qa�

B(B0 → Λ−
c Λ

+
c K

0
S) < 0.9 % � 90 % � � n � J {xq

� � �(� � >���;�=L; � � ;&%"� D $�$ � =L;!; � � B&>R%B � > � � P � � � �'=G;�� 8 J �+=`� � E >j� � �(� � >-��; =G; D ��; �'� >NB@= � � � � �Q= � B � �
B
� �@=#� P � � %g� � ;!; � B-� � � � ;�� P � =L;�� D � � � � = � �Q= � $ D � � � � � P �,� P � � J
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 � ��� � � � ������� � ��� � � ��� � � ��
 ����� � � � �

 ��� � ��� ������� ��� � B(B → C/CX)

� � ;!; � � � �/;�� D � B D ���&� � � B-�/;�=#�,��B � � � �(� � >�� �S� _ � ;�� $
=L;��$:?> � � B D � ; � � �0�!D >���� � �S�!D � ;SB�� � � >�;�� � �
B@= � � �K= � � � ;�� D � z J v J � " � �(� � >�� � D $ $6� � shape2

� � ;d� � �,� � � � B�>-��; �  &=#�W�K=CEG=#�(�K=G;�� D � B � �  @=`� =%$6^ ;�� � �
B � ρS

� D � � B � � "I= ��> � ; � $ �'� ; B � � B�� � ;������&>�;�� D � � (mXc(c)
,mES)

J

v#2xz



v#2�{ o �&�&� ! � 
 J A �/;�=#�,� � B � � � ��� � >-� �0� _ � ;��'$ =G;��,:?> � � B@= � � � � � $ � � >-� � � B � � B(B → C/CX)

f;��� P � �&�  -� D B�>-� ;�� D � � D �����)�$� �  �� D B&>-�/;�� D � = � ;��a? � D ���(�&�,� �
B(B → C/CX) 78.3 ± 1.6 8.4 ± 0.6

N tag
Breco

±1.6 ±0.2
χd ±0.0 ±0.0
g−/g0 ±0.3 ±0.1
B B&> 86D � B9 -�$:?>@= � ; ±0.1 ±0.0
〈εC〉 � ; =G; ±0.4 ±0.1
shape1 ⊕ shape2 ±0.7 ±0.1
trk ±1.3 ±0.2� � A

K± ±2.0 ±0.2� � A
p/p̄ ±0.0 ±0.0� D ��� � � ;�� D � K0

S ±0.0 ±0.0E � ; D K ±0.2 ±0.0
B(C → Xc)

+1.9
−1.8

+0.2
−0.2

Rint
+0.6
−0.6

+0.1
−0.1

rDCS ±0.0 ±0.1
� _ � ; J ; D ; =#� 3.1+2.0

−1.9 0.4+0.3
−0.2

���	� ��� �
����� �\���Y3�<�+0���:9 � (4��&�([),+ 
B�4" &0�>A��9�#"%$ �
$ A�) �����
-0(�&�(
D0/D0 &�+0$1�[)�(4��&�34���
$>�Y3#70�X+0���#"%$1� &�(4�

B
A��1+0�97�34� �

f;��� P � �&�  -� D B�>-� ;�� D � � D �����)�$� �  �� D B&>-�/;�� D � = � ;��a? � D ���(�&�,� �
B(B → C/CX) 10.0 ± 0.8 2.6 ± 0.5

N tag
Breco

±0.2 ±0.1
χd ±0.0 ±0.0
g−/g0 ±0.2 ±0.1
B B&> 86D � B9 -�$:?>@= � ; ±0.1 ±0.0
〈εC〉 � ; =G; ±0.1 ±0.0
shape1 ⊕ shape2 ±0.2 ±0.1
trk ±0.3 ±0.1� � A

K± ±0.3 ±0.1� � A
p/p̄ ±0.0 ±0.0� D ��� � � ;�� D � K0

S ±0.0 ±0.0E � ; D K ±0.0 ±0.0
B(C → Xc)

+0.8
−0.7

+0.2
−0.2

Rint
+0.0
−0.0

+0.0
−0.0

rDCS ±0.0 ±0.0
� _ � ; J ; D ; =#� 0.5+0.8

−0.7 0.2+0.2
−0.2

���	� ��� ������� �U���63�<�+0���:9 � (4�;&�(�),+ 
B�@" &0� A����#"%$ �
$ A�) �c���
-0(;&�(
D+ → K−π+π+ &�+0$1� )�(4��&�34���
$>�Y3/.

70�8+0�9�#"%$1��&�(4�
B

A��1+0�97�34� �



v#2x}
f;��� P � �&�  -� D B�>-� ;�� D � � D �����)�$� �  �� D B&>-�/;�� D � = � ;��a? � D ���(�&�,� �
B(B → C/CX) 1.1 ± 0.4 10.6 ± 0.9

N tag
Breco

±0.0 ±0.2
χd ±0.0 ±0.0
g−/g0 ±0.0 ±0.0
B B&> 86D � B9 -�$:?>@= � ; ±0.0 ±0.1
〈εC〉 � ; =G; ±0.0 ±0.2
shape1 ⊕ shape2 ±0.0 ±0.3
trk ±0.0 ±0.3� � A

K± ±0.0 ±0.2� � A
p/p̄ ±0.0 ±0.0� D ��� � � ;�� D � K0

S ±0.0 ±0.1E � ; D K ±0.0 ±0.0
B(C → Xc)

+0.4
−0.2

+3.7
−2.2

Rint
+0.0
−0.0

+0.5
−0.4

rDCS ±0.0 ±0.0
� _ � ; J ; D ; =#� 0.1+0.4

−0.2 0.5+3.7
−2.3

���	� � � � � � � �U���Y3�<�+0�9�:9 �>(4� &�( ),+ 
B�@" &0� A����#"%$ �
$ A�) �c���
-0( &�(
D±
s

&�+0$1� )�(4� &�34���
$>�63#70�8+0���#"%$1� &�(4�
BA��1+0�97�34� �

f;��� P � �&�  -� D B�>-� ;�� D � � D �����)�$� �  �� D B&>-�/;�� D � = � ;��a? � D ���(�&�,� �
B(B → C/CX) 2.8 ± 0.5 2.1 ± 0.5

N tag
Breco

±0.1 ±0.0
χd ±0.0 ±0.0
g−/g0 ±0.0 ±0.0
B B&> 86D � B9 -�$:?>@= � ; ±0.0 ±0.0
〈εC〉 � ; =G; ±0.1 ±0.1
shape1 ⊕ shape2 ±0.2 ±0.2
trk ±0.1 ±0.0� � A

K± ±0.1 ±0.1� � A
p/p̄ ±0.1 ±0.1� D ��� � � ;�� D � K0

S ±0.0 ±0.0E � ; D K ±0.0 ±0.0
B(C → Xc)

+1.1
−0.6

+0.8
−0.5

Rint
+0.0
−0.0

+0.0
−0.0

rDCS ±0.0 ±0.0
� _ � ; J ; D ; =#� 0.3+1.1

−0.6 0.2+0.8
−0.5

���	� � � ���B� � �\���Y3�<�+0�9�:9 �>(4��&�(�),+ 
B�@" &0� A����#"%$ �
$ A�) �����
-0(�&�(
Λ+
c → pK−π+ &�+0$1��)�(4��&�34���
$>�Y3#70�8+%.

���#"%$1� &�(4�
B
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 J A �/;�=#�,� � B � � � ��� � >-� �0� _ � ;��'$ =G;��,:?> � � B@= � � � � � $ � � >-� � � B � � B(B → C/CX)

f;��� P � �&�  -� D B�>-� ;�� D � � D �����)�$� �  �� D B&>-�/;�� D � = � ;��a? � D ���(�&�,� �
B(B → C/CX) 47.0 ± 2.0 8.3 ± 1.4

N tag
Breco

±0.4 ±0.1
χd ±0.3 ±0.3
g−/g0 ±0.3 ±0.1
B B&> 86D � B9 -�$:?>@= � ; ±0.1 ±0.0
〈εC〉 � ; =G; ±0.3 ±0.0
shape1 ⊕ shape2 ±0.6 ±0.3
trk ±0.8 ±0.2� � A

K± ±1.3 ±0.2� � A
p/p̄ ±0.0 ±0.0� D ��� � � ;�� D � K0

S ±0.0 ±0.0E � ; D K ±0.1 ±0.0
B(C → Xc)

+1.2
−1.2

+0.2
−0.2

Rint
+0.4
−0.3

+0.1
−0.1

rDCS ±0.0 ±0.1
� _ � ; J ; D ; =#� 1.7+1.3

−1.2 0.5+0.2
−0.2

���	� ��� ������� �\���Y3�<�+0���:9 � (4��&�([),+ 
B�4" &0�>A��9�#"%$ �
$ A�) �����
-0(�&�(
D0/D0 &�+0$1�[)�(4��&�34���
$>�Y3#70�X+0���#"%$1� &�(4�

B
$ (������4(4� �

f;��� P � �&�  -� D B�>-� ;�� D � � D �����)�$� �  �� D B&>-�/;�� D � = � ;��a? � D ���(�&�,� �
B(B → C/CX) 37.0 ± 1.7 2.3 ± 1.2

N tag
Breco

±0.3 ±0.0
χd ±0.2 ±0.2
g−/g0 ±0.2 ±0.0
B B&> 86D � B9 -�$:?>@= � ; ±0.0 ±0.0
〈εC〉 � ; =G; ±0.2 ±0.0
shape1 ⊕ shape2 ±0.6 ±0.2
trk ±0.9 ±0.1� � A

K± ±1.0 ±0.1� � A
p/p̄ ±0.0 ±0.0� D ��� � � ;�� D � K0

S ±0.0 ±0.0E � ; D K ±0.1 ±0.0
B(C → Xc)

+2.6
−2.3

+0.2
−0.1

Rint
+0.0
−0.0

+0.0
−0.0

rDCS ±0.0 ±0.0
� _ � ; J ; D ; =#� 1.5+2.6

−2.3 0.3+0.2
−0.1
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f;��� P � �&�  -� D B�>-� ;�� D � � D �����)�$� �  �� D B&>-�/;�� D � = � ;��a? � D ���(�&�,� �
B(B → C/CX) 1.8 ± 1.0 13.9 ± 1.6

N tag
Breco

±0.0 ±0.1
χd ±0.1 ±0.1
g−/g0 ±0.0 ±0.0
B B&> 86D � B9 -�$:?>@= � ; ±0.0 ±0.0
〈εC〉 � ; =G; ±0.0 ±0.2
shape1 ⊕ shape2 ±0.2 ±0.3
trk ±0.0 ±0.4� � A

K± ±0.1 ±0.3� � A
p/p̄ ±0.0 ±0.0� D ��� � � ;�� D � K0

S ±0.0 ±0.1E � ; D K ±0.0 ±0.0
B(C → Xc)

+0.6
−0.3

+4.7
−2.8

Rint
+0.1
−0.1

+0.6
−0.6

rDCS ±0.0 ±0.0
� _ � ; J ; D ; =#� 0.2+0.6

−0.4 0.6+4.8
−2.9

���	� � � ���\� � �U���Y3�<�+0�9�:9 �>(4� &�( ),+ 
B�@" &0� A����#"%$ �
$ A�) �c���
-0( &�(
D±
s

&�+0$1� )�(4� &�34���
$>�63#70�8+0���#"%$1� &�(4�
B$ (����9�@(4� �

f;��� P � �&�  -� D B�>-� ;�� D � � D �����)�$� �  �� D B&>-�/;�� D � = � ;��a? � D ���(�&�,� �
B(B → C/CX) 5.1 ± 1.0 1.7 ± 0.9

N tag
Breco

±0.0 ±0.0
χd ±0.0 ±0.0
g−/g0 ±0.0 ±0.0
B B&> 86D � B9 -�$:?>@= � ; ±0.0 ±0.0
〈εC〉 � ; =G; ±0.2 ±0.1
shape1 ⊕ shape2 ±0.4 ±0.1
trk ±0.1 ±0.0� � A

K± ±0.1 ±0.0� � A
p/p̄ ±0.2 ±0.1� D ��� � � ;�� D � K0

S ±0.0 ±0.0E � ; D K ±0.0 ±0.0
B(C → Xc)

+1.8
−1.1

+0.6
−0.4

Rint
+0.0
−0.0

+0.0
−0.0

rDCS ±0.0 ±0.0
� _ � ; J ; D ; =#� 0.5+1.8

−1.1 0.2+0.6
−0.4
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B�@" &0� A����#"%$ �
$ A�) �����
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Λ+
c → pK−π+ &�+0$1��)�(4��&�34���
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� D >-�Y� � �<;�=#� �&� � B � � B-� � � � ;�� P � =L;�� D � � B � � $6� �!D � � B � �  @=#�<;��$� >-� � � � �@=#��$*� � � %W� � � � D $F�-� � �
BH"k�)E�� �&� $ �'� ; � D � � � �iE�� � ��D � ;�;�� D   � ;���; �  D >-�*� D � � � �(E � �j� " � ��� � >-��B D �&� � �  @=`�*�#" = ��> � ; � $ � � ;
n � ��� � >-� P =%> ��� � � �&�&� q J � D >-� � � �5� ; =G;�� � ;��,:?> � �;8 =`�M�-� � � % � " � �(� � >-� � >��5� � ; =%> ! B � �-� = � � � � $ �'� ; � � ;�Q=`�$� >-�$� � � D $�$ � �K= B-� �  � � � � D � B � � ��� � >-��; =G; � BH" > � P �!= � B � D $F�-� � BH" � !  ��&�(� � � � � � � D � ; � � =#�(� D&J� D � � :?> � �#" � ��� � >-� � � ;E;�� D  P � = � B �  D >�� � ! �)�M>-� � > � ;�=G> ! B � �-� = � � � � $ �'� ; � >-�ut* ��M> � B � ;�� D � �
B-�@E"�M=G;�� D � �C� ; = � B@=#��B � %'�G" � � ;(? t4? B-�$� � � D � � :?> � P(B = 0) > 0.27 %

%	> �&� �,�M$ �A; � � >� ��&��� � >�� � � � ;�Q=`�$� >-�$� � J � � � $ D B � � B � B-� � � � ;�� P � =G;�� D � � D � � � � � � �C�!D � ;M� B(B+ → D−
s X)

% B(B0 → D+X)
%

B(B0 → D−
s X) � ; B(B0 → Λ+

c X) J

� G&I � SuS']��jS'P PRQuU5QWV)PRQuV�� �Z]MP �9UYO�P \@] �CUYP �Z]MP�� ]CQWV@QW]MP PRQuU QWV&P	�
QWV�� �Z]MP

� D >-� � �@=#� > �&� B � � B-� � � � ;�� P � =G;�� D � � �&��;�� � � %H> �&� � !  ��)��� � � � � � D � ; � � =#�(� D � � ;5���'=#�$� � � � J � � �
� D $F��� � � B � �'= � B-��B@=G; � Xc

% � D ;�� � nc % � ; Xc

% � D ;�� � nc % �!D � ; P � � �&��� � � � � D � B � � � D � �  D � ���!D � � � �&�&� �
B �  @=#�!=%$*^/;�� � � µc � ; µc J � � �  @=#�!=%$*^/;�� � � ��D � ;/ -�(� � � P =G> ! =%> ! EL=#� � >-� � $ � � >-��� � � B@= � � � � �
B D ��� � � � %g�%" � � ;(? tr?�B-�,� � �

µc = N
recul

Xc
+N

BG

c n�
 J � q
µc = N

recul

Xc
+N

BG

c n�
 J v�q
D m N recul

Xc
n N recul

Xc

q � � ;�� � � D $ ��� � BH"k� ; =G; � � � =%> ! =	��> � ;�� � Xc n Xc

q B@= � � �K=3� D
� ; � B � � � P � =`� � ;
N
BG

c n NBG

c

q � � ; � �5� D $F�-� � B � �Q= � B-�MB@=L; � B � 86D � B � = ��> � ;�� � B@= � � � � � D
� ; � B � � � P � =#� J ��=�� D
� ; �
B � � � P � =`� � � ;CB-� � � � �  @=`��� mES > 5.270 GeV/c2 � ; ∣∣∣mXc(c)

−MC

∣∣∣ < 3 σfitC
%W�M= � � P >�� � 
 J � � ��$ � ; B � E"� � >@=`�$� � � � P � =# �-�$:?> � $ � � ;�� � ;�; � 8 � � 	 ;�� � B@= � � � �  -�M= � (mES,mXc)
J � � � � D $F�-� � �

v � �
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B � �Q= � B-�MB&=G; � B � 86D � B �F��D � ; B D �&� � � B@= � � � � � �	=%�-� � � z J � v"%'z J � ��%[z J � y � ;6z J � y =sE � � NBG

c(c) =

NXBG
c(c)
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�

)
2
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Xc

� ; N recul
Xc
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N recul
Xc

= nc −N
BG

c n�
 J �xq
N recul
Xc

= nc −N
BG

c n�
 J y q
� � � ; =%> ! B � �-�!= � � � � $ �'� ; �!D � ; �'� � >-�A; � �'=#�$� >-�$� � � D $�$ � B&= � � � � �Q= � B � � "I= � =#�D_ � � � ;�= � B&=#�!Bt  &=#��;��$� B � �M86D �!$F>-� � � � J � z � ; � J � } J
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% EL=#� � >-��; � �,� � :?> � �M=  �� D �@=G�-�$�,�A;��Z:?> �� � ;�=%> ! B � �-� = � � � � $ �'� ;j�(� � � Btrue �!D �A;/ ��M> �  � ;���;*: > � Blow �!D ��;/� � 8 �)��� � >-�*t 3
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B � 0�2N� B � � � !  ��&��� �'� � � � � D � ; � � =#�(� D $ � � >-� � > � ; =%> ! B � �-� = � � � � $ �'� ; B � � 8 �&��� � >��;t Bup J� � � � �K=+;�� D � � �,^'$ �
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P
(
Btrue > B − σlow

)
= 1 − α/2 n 
 J z�q

P
(
Btrue < B + σup

)
= 1 − α/2 n 
 J {xq

n�
 J }�q
=�E � � α = 31.73 %

� � : >��W� D ��� � �  D � B t�> ��� B-�@EB�K=G;�� D � � ; = � B@=#��B J
A � � � � ;�� P �!=G;�� D � Blow Bup �

0�2�� � � B+σup

−σlow

B+ → D−
s X D+

s → φπ+ > 0.2 % < 3.3 % 2.2+0.8
−0.7 %

D+
s → K∗0 K+ ?

< 3.1 % 1.6+1.1
−1.0 %

D+
s → K0

S K
+ ?

< 1.0 % −0.2+0.9 %
B0 → D+ X D+ → K− π+ π+ ?

< 3.8 % 2.3+1.2
−1.1 %

B0 → D−
s X D+

s → φπ+ ?
< 5.2 % 3.1+1.6

−1.6 %
D+
s → K∗0 K+ ?

< 3.0 % 0.4+2.1 %
D+
s → K0

S K
+ ?

< 4.0 % 1.9+2.2
1.0 %

B0 → Λ+
c X Λ+
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c

B&= � � �K=�� D
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��=  -� D B&>�� ;�� D � B � $6� ��D � � D = � ;��a? � D ���(�&�,� �  -� D E"� �'� ; � �!� � � ;�� � �,� � $ � � ;	B � ;�� = � � �A;�� D � � b→ ccsB@= � � � � � :?> � �,� � � �K= 8 �!= P $ �'� ;�=G;�� D � B � �M=7 @=#�,� � cs B D ���&���'� ;�� � =%>�;�� � � > � $6� ��D � D = � ;��D? � D ���(�&�,� � ;
> � � = D � J h �&�  &=#��;�� � B � � � � B-� � � � ;�� P �!=G;�� D � � = �/;��C� ;!>&B-�,� � B@= � � ��������� B � 8 =#� � D �F� ! �&��> � �DE � . � �43<%� � ;!; � = � =#�,_ � � =E$ D � ;��(��:?> � � � � B-� � � � ;�� P � =G;�� D � � B → D(∗)D(∗)K D � ;�> � ; =%> ! B � �-� = � � � � $ �'� ;
BH" �'� E"�,� D � y5�j% D �'�K=  -� D B�>-� ;�� D � B � D = � ;��a? � D ���(�&�,� � � � ;-$ � � >-��� � �$�)��t 11 %

B@= � � � � � B � �&=#� P � �� ; 10.6 %
B@= � � � � � B �&� >�;�� � � �B� � � B�� � � � ;�� P �!=G;�� D � � B → D(∗)D(∗)K(nπ) D � ;�B D � �0> � ; =%> ! B �

�-�!= � � � � $ �'� ;7� � �K=G;��,E � $ � � ;��M$6 D ��; = � ; J � � � B-� � � � ;�� P � =L;�� D � �  � >�E �'� ;�	 ;�� � �/; >&B��$� � �  @=#� $ = ��� �
$ = � :?>@= � ; � t �K=� @=#�,� � D0K+ D > D0K+ J� � �(� � >���;�=L; � � ;-B D �&� � � � P >-� � � J y-%xt P =%>�� � �  D >-�[�K=S$
= �!� � $ = � :?>@= � ; � t D0K+ � ;bt3B-� D ��; � D >-�+�K= $ = �!� � $
= � :?>@= � ; � t D0K+ B@= � � � � � B-� � � � ;�� P � =L;�� D � � B � � B � �@=#� P � � J f � � D � � ;�=G; �
�-� �'� �K=6 -��� � � � � � B �  -�,� � =%> ! $
= ��� � � B � � D0 � ; D∗0 :?>-�d� D ��� � �  D � B �'� ; =G> ! B-� � � � ;�� P �!=G;�� D � �
B+ → D(∗)0D(∗)0K+ J � >-�M�M= � � P >�� � B � P =%>-� � � n $ = �!� � $ = � :?>@= � ; � t D0K+ q �'�  @=`��;��,�'>-�,� � �)%�$� _)=+B � � D $F�-� � > ! �@E�� �&� $ � � ; � =�E � �NB � � $ = ��� � � �)� � E#� � � � >- ��&�(� � >�� � � t � � �$� � � BH" > � D0 D >
BH" > � D∗0 %R�,� � " = P ��;3B � � B-� � � � ;�� P � =G;�� D � � B+ → D∗0D∗0K+ � ; B+ → D(∗)0D(∗)0K+ nπ

=�E � �
n > 0 J
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� "k� � ; � �iEB� � �&�&�'� ;  @= � %g� � � �K=#� P � >�� �  &=#��;�� � �,� � � B D �,E � � ; 	 ;�� � � P =#� � � �'� ;�� � � � � B-� � � � ;�� P � =L;�� D � � B � �
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B � � $*� �!D � � B �'� $*� �!D � � D = � ;��D? � D �(���)�$� �
D > �'� � D � � B � � B�� � � � ;�� P �!=G;�� D � � B → D+

s X n Ds
= � ;��a? � D ���(�&�$� � q % D > �'� ; � �!$ � B � : >&=#� � � B � �

B-� � � � ;�� P � =L;�� D � � b → ccs
′ � ; b → c`+ν`

J � � ;!; �  -� D  ����$�/;�� � � ;�� =%B&>���;0B��$� � � ; � $ �'� ; � >-� � � � ;�=%> !
BH" � $F�-�!= � � � � $ �'� ;  &=#�N�

B(B+ → X+
I)

B(B0 → X0
I )

=
τB+

τB0

= 1.086 ± 0.017 n
� J v�q
� � � B-� � � � ;�� P �!=G;�� D � � � � � ;�= � ; � � % � � � � P �$� P � = � ; � � � B-� � � � ;�� P � =G;�� D � �  -� � P D >�� � � � ;Y� � � B-� � � � ?

;�� P � =L;�� D � �C� >- � -����$*� � �  @=#� Vub � D � ;������&> � � ; ; D >�; � � t �#" � � � ;FB � B-� � �&� �'� � � B � ; � $6 � B � EB� � %
v�v �



v�v�v o �&�&� ! � � J � � $* � B � EB� � B � � $6� ��D � � B
�$� � " = P ��; �'� $
= � D �(�A;�� B � � B-� � � � ;�� P � =G;�� D � � b → cud

′ D > B � � B-� � � � ;�� P �!=G;�� D � �  &=#� B-�K= P � =%$�$ �
BH"k�&� �@= � P � J � � � � �)�M>@= � ;C; D > � � � � �/;�=L; � � � =%> !  @=#��;��$�)�$ @= � ;+t �K= B-��� �)� � � � � B � ; � $* � B � EB� � %
� D ;�� � XNI

% D � D ��;�� �'� ; t6 @=`��;��,� B � � " � :?>@=L;�� D � � J v �'� �!D $�$ = � ; � >��0; D > � � � � �/;�=G; � � � =%> ! XI D���� �M��� � � �
1 − B(B+ → X+

NI)

1 − B(B0 → X0
NI)

=
τB+

τB0

= 1.086 ± 0.017 n
� J �xq
� � ;�=%> ! B � �-�!= � � � � $ � � ; B(B+ → X+

NI)
B D ��; � � �)�M>-� � ; D > � � � � �/;�=G; � � � =%> ! XNI

 D��!� �M�-� � � J � �
� � ;  D���� ���-� � B � � � �Q=#�,�'>-� � � P � �#� � =%> ! $ � � >-� � � ���'=#�,� � � � � �$�)� J � � � � � ;s% �,� � "I= P ��; B � �

B(B → XNI) = B(b→ cX) − B(b→ ccs
′
) −

∑

`=e,µ,τ

B(b→ X ` ν`) n	� J y q

f;� � � ; =%> ! B � �-� = � � � � $ �'� ; B(b → ccs
′
)
 � >�; � " D ��; � � �$� �'� ��D $ $ = � ;0; D >R; � � � � � B-� � � � ;�� P � =4?;�� D � � � �@=`�!$6� � � = � ;��a? � D �����)�$� � � � ;;� � ;�=G> ! B � �-� = � � � � $ � � ; � � $*�a? � �  R; D � �,:?> � B@= � � � � � B-� � � � ;�� ?

P �!=G;�� D � � B � � B+ � ; B@= � � � � � B�� � � � ;�� P �!=G;�� D � � B � � B0 .k0#y`3�� �'� D ��$
=`�$� � � =G> ;�=%> ! B � �-� = � � � � $ �'� ;
� � $*�a? � �  R; D � �,:?> � . � v43 � � ;E$ � � >-��� � ;MEL=%>�;*�

B(B+ → Xe+νe) ≡ B+
sl = 10.48 ± 0.58 ± 0.66 n
� J z�q

B(B0 → Xe+νe) ≡ B0
sl = 11.03 ± 0.61 ± 0.71 n
� J {xq

� � � � D � � >- - D%� � �!= :?> � � � ;�=G> ! B � �-�!= � � � � $ �'� ; B(B → Xµ+νµ) = Bsl � ; :?> � B(B →
Xτ+ντ ) = 0.23 × Bsl

.|v �`3 J
��������� �	��

����������������������


I

� � � B�� � � � ;�� P �!=G;�� D � � :?>-� ���  @=`��;��,�&�, �'� ;  @= � t��K=CB-� � �&� �'� � � B � � �K=#� P � >�� � ; D ; =#� � � B � EB� =`� � � ;
� =L;�� �i8 =#�$� � � �) @=#��� $ � � ; � " � : >&=G;�� D � � J v J��=  -� � $*�,^&� � $ � � >-� � � � ; B D ��� � �  @=`�d� � � B-� � � � ;�� P � =G;�� D � �	� � $6�D? � �  �; D � �,:?> � � % D � D ��;�� �'� ;	B@= � �� � �Q= � .k0#y`3q�

B(B+ → X`+ν`)

B(B0 → X`+ν`)
= 0.950+0.117

−0.080 ± 0.091 n
� J }#q
��=SB � > ! �$^ $ � $ � � >-� � � � ; B D ��� � �  @=#� � D ;�� � �(� � >���;�=L; � >-�'�K=  -� D B&>-�/;�� D � � � �)�M> � �,E � B � $6� ��D � �

D n D0 � ; D+ q = � ;��D? � D �(���)�$� � �
B(B+ → DX)

B(B0 → DX)
= 1.038 ± 0.195 ± (syst) n	� J ~�q

� � � � �K= ;�� D � � �,^'$ � $ � � >-� � � � ;�B D �&� � �  @=#� � D ;�� � ��� � >-�A;�=G; � >-�j�K=� -� D B&>-� ;�� D � B � Ds

= � ;��a?� D �����)�$� � �
B(B+ → D+

s X)

B(B0 → D+
s X)

= 0.763 ± 0.109 ± (syst) n	� J 0�q



� J � J � � $* � B � EB� � B � � $6� ��D � � B v�v �
��������� �	��

����������������������


NI� " � : >&=G;�� D � � J y � "1�)�&���A; �!D > � �K= 86D ��$ � � �M$6 -� � �
B(B+/0 → XNI) = N

+/0
c −N+/0

c − 2.23 × B+/0
sl n
� J � 2xq

� � � � D $F�-� � � N+/0
c(c)

�!D � ;�$ � � >-�(� � B@= � � � � ;!; � = � =#�D_ � � J � " � :?>@=G;�� D � � J � � � �$� � � � �!=# - D �<;�B � �
; � $* � B � EB� � t �K=�:?>@= � ;���;��"�

1 − B(B+ → XNI)

1 − B(B0 → XNI)
= 0.905 ± 0.113 ± (syst) n
� J � � q

B@= � � � � �Q= � � � � � ��� � >-� �F� _ � ;��'$ =G;��,:?> � � ��� �!D � ;  -��> � � � P �,� P � =%�-� � � � ; B � EB� D � ; 	 ;�� � �Q=#�,�'>��$� � �� D ��� � � ; � $ �'� ; J

��������� � �������
	�

��� � 
�	 ����
 ��
�����
���
�� ��
���
�
�� ��
���� 

B

�  &=#��;��$��B � � $ � � >-� � � ���Q=`�$� � � � � B@= � � � � ;�� =sEG=#�,� � ; B � � � �$� � ��D ��; � � > � �  &=#� � � �bf .10#y`3<%�$� � � ;> D��!� �M�-� � BH" � �!� =�_ � �CB � � D $6 -� �'� B-� � BH" D m EB� �'� ;>�M=NB-� � �&� �'� � � B � ; � $6 � B � E"� ��� � ;�� � � � �
$6� �!D � � B0 � ; B+ J � � D � � >- - D�� � : > � � � ; � � � ; � � ;CB��)=%> ! � � ; � � 8 �)� � � � � � B � ��=G>-�$� B@= � � � � �
B+ � ;E=%> ! B-�K= P � =G$ $ � � BO"1�)� �&= � P � B@= � � � � � B0 �&� >�;�� � � � ; � ��B �  -�M> � % D � � >- � D�� � :?> � � " � � � ;
$ =	� � >-� � � ;�� D >�E � B@= � � � � � B-� � � � ;�� P �!=G;�� D � � �'� � �@=`�!$ � � � D �(���&�,� � n � � P �,� P � = � ;C=#� � � � � � � � � � ; �
B � � B�� � � � ;�� P �!=G;�� D � � b → u � >- - -�(�M$6� � �  @=`� |Vub|2 q %-�,� � � ;  D��!� �M�-� � B � $ � � >-� � �M� � �!=# - D �<; B � �
; � $* � B � EB� �  &=#�M� � � =` - D ��; B � B�� � �&� � � ; � ; =%> ! B � �-� = � � � � $ �'� ; J � D > � � � � �(� � >���;�=L; � D ��; �'� > ��$�)� �!D � ;M -� D � � � � B � 1 D >9� � 8 �)��� � >-� � t 1

%�� � : >�� � � $F�-� � � � B-�$:?> � �7:?> � � "�� _B D ; ��^ � � � $*� � � � >��M�M=
� =G;!>-� � B � �M= B-��� �)� �'� � � B � ; � $6 � B � EB� �E� � ; � � � D $* ��$^ ; � J � �'= � $ D � � � % � � � �@=#�(� � � BH" � ��� � >-� �!D � ;
�'� � D � � ;�� D  P � = � B � �  D >-�M� D � �&��>-� � B-� � � ��;��DE � $ �'� ; J

h �&� =# � -� D � � � B-��� �)� �'� ; �  � >�; 	 ;�� � =%B D  �;�� ���'� $ � � >-� = � ;5� � ;!; � 86D � � B-�$� � �/; � $ �'� ;5� � � �K=#� ?
P � >-� �  @=#�<;�� � �$� � � % � =`� �@= � ; : > � �K=��K=#� P � >-� ; D ;�=#� � B � � $6� �!D � � B � � ;+. � vr3q�

ΓB0 = 1/τB0 = (651.0 ± 5.9) × 109 s−1

ΓB+ = 1/τB+ = (598.4 ± 6.5) × 109 s−1 n
� J � v�q
A = � � � "�� _B D ;��-^ � � ; � � ;�� � �$�&�<%��K=FB-��� �)� �'� � �5�'� ;�� � � � � B � > ! �M=#� P � >-� �  &=#��;�� � �$� � � �

∆Γ = ΓB0 − ΓB+ = 52.6 ± 8.8 × 109 s−1 n
� J � �xq
B � E"�!=#��;�	/;�� �5� !  -�,�$:?>-� � > � �$:?> � $ � � ;  &=#�M� � � �/;�=L; � XNI

J� � �(� � >���;�=L;Y � >�;i? 	 ;�� � � �) @=#��� � � B � > ! J A " > �&�  @=`��;s%T� � � �M=#� P � >-� �  @=#�<;�� � �$� � � >�;��,�$� � = � ;3> � �D?:?> � $ �'� ;EB � � $ � � >-� � � ���'=#�$� � � � � �,�&�<% � �,� � � � � �)�M> � � ; B D � �5B � � �/;�=G; � XI

�
Γ1
B0 = (N 0

c −N0
c ) × ΓB0 = (432.9 ± 26.3 ± (syst)) × 109 s−1

Γ1
B+ = (N+

c −N+
c ) × ΓB+ = (423.7 ± 14.3 ± (syst)) × 109 s−1 n
� J � y q



v�v`y o �&�&� ! � � J � � $* � B � EB� � B � � $6� ��D � � B
� ;0BO" =G>�;�� �  &=#��;M�K=��K=#� P � >��7 @=`��;�� � �,� � B � � � ; =G; � XNI

� � >-� � $ �'� ;*�
ΓB0(B0 → XNI) = B(B0 → XNI) × ΓB0 = (272.8 ± 29.6 ± (syst)) × 109 s−1

ΓB+(B+ → XNI) = B(B+ → XNI) × ΓB+ = (283.8 ± 18.5 ± (syst)) × 109 s−1

n
� J � z�q�Wt �'� � D � � % � � � �@=#��� � � BH" � ��� � >-� � � _ � ;��'$ =G;��,: > � � ��D � ; P � = � B � � % � �  &=#��;��$�'>��$� � � t��Q=%> � � B � � ;�=%> !
B � �-� = � � � � $ �'� ; � � ; � �!$6�'B-�M=#�,� � � % � ;SB D �,E �'� ;SB D � � 	/;�� � �Q=`�$�'>��$� � � =�E � � �!D � � J � � � � $F�-� � :?> � � � �
B � > ! �M=#� P � >-� � ��D � � � ; ;��(^ �  -� D � � � � �#"I> �&� B � �#" =G>�;�� � �
∆Γ(XNI) = ΓB0(B0 → XNI)−ΓB+(B+ → XNI) = (−11.0±34.9±(syst))×109 s−1 n
� J � {xq

=#� D � � :?> � �!D > � � "�� _B D ;��-^ � � �'$6� � � D � B � E"�!=#��; =sE D �$��� ∆Γ(XNI) = ∆Γ = 52.6± 8.8× 109 s−1 J
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. � 3 � J 
 �K= � � D�� %��E>��&� J � �x_ � J���� n � 0�{ � q %gz`{�0 J
.1v43 o J � =#�K=G$ % ��)�(�< (�$>�#+0��� 
Q+0���9�#A�)�( �H�>(4"%� �4% � B J � J � EG=#� =L; � D �M$ � ; D � � � D �M$ � o ��$*:?>-� � ;3= � B

� D ���M= P % � 0#{�~ J
. �`3 � J�� � � � � � � P % 
 ( " &�(�) " 2 )�(�
B�6"%$1�@% � �x_ �'J � � E J � � ;!; J
	�� n � 0�{x}#q@% � v#{#y J
. y#3 
 J�
 > �L= � =�% � � D P J � �x_ �'J �+=G;�� J � D � J!D#8 � =# @= � 	�� n � 0��xz#q@%�yx~ J
.1z43 � J � =%�-���&� D %��K$>�
�#+/��� � �%<�< (��9����+0$B&F,K(�
B�6"%$>�#A � (4A@+ �U� J � � _ �'J � � E J � � ;�; J�	�� n � 0�{ �xq@%�z � � J
.k{`3 � J��ED �@=s_ = � �-� � ; ��J � = � �L= � =�% CP .Y-U�#"%),+0���#"%$.�
$ �8�>(�� (�$ "%��<�+/) � �U+�� )�( �H�>(4"%��� " 2��;(X+��

��$>�Y(��8+�A��9�#"%$ J � � D P J � � � D � J � � _ � J���� n � 0�} �xq@%-{xz#v J
.1}43 � J�� J 
 � P%P � %���
>"%$>�#+0$ (4"%�c� � � <�< (������ ���4(X+��0&�"�� $ � �
�8�>"%�!� ( +%�4��)�(4�4�5� "U�U"%$1�@% � �x_ �'J � � E J
	!��" n � 0�{�{�q@% � � z#{ J

.k~`3>� J#� D � 8 � � � ; � � � %-
�+0�8+0< (������ �U+0���#"%$ " 2 �8�>(%$�"0�4+ �0+%�����8. (=+%�&�0+'�?+ <�+0�9��� ��% � �x_ �'J � � E J � � ;!; J
��� n � 0�~ �xq@% � 0#yxz J

.k0`3 � J�� �@=`��� � � (��O+0),� n)(�*,+�-/.103254�687#9:9�0;* % � �  B?  �� � 2#yx2�{ � ~#y J
. � 2`3 � J 
 J � �-�(� � ; �'� ��D � (��O+0),� � ��-U��&!(�$ A�( 2 "%� �8�>(

2π
&�(4AX+ � " 2 �6�>(

K0
2

< (4�U"%$ J � � _ �'J � � E J � � ;!; J
	�< n � 0�{`y q@% � ��~ J

. � � 3�� J o $�$
=`��(��O+/)b�u. � D �,�K=%� D � =G;�� D � 25=?>A@ 3=% � � _ �'J � � E J � � ;!; J���	 n � 0�0���q@%-{x}`y J
. � v43 � J � �MB � �M$ = �&� (��O+0),�u.�BDC *�9,E)F!GH0JI C 9 CLK *,+�-M. 3=% � � _ � J � � ;!; J � "���� % � n v`2�2#y q J
. � �`3 � J o >�� � ��;�(��O+/)b�u. � D �,�K=%� D � =G;�� D �ON�P/NQPSR 3<% � � _ �'J � � E J AUT�V n v#2#2��xq@%-2�0�v#2�2 � J

v�v�z



v�v#{ � � � �K�if 
 � o � 
 ���

. � y#3 � J o >�� � ��;�(��O+/)b�u. � D �,�K=%� D � =G;�� D �ON�P/NQPSR 3<% � � _ �'J � � E J � � ;!; J�� � n v#2�2 �xq@% v`y v`2�2 � J
. � z43 � J o >�� � ��;�(��O+/)b�u. � D �,�K=%� D � =G;�� D �ON�P/NQPSR 3<% � � _ �'J � � E J � � ;!; J T � n v#2�2`y q@%-2�� � � 2 � J
. � {`3>A J � � ���!D � (��Q+0),�W.k� D �,�M� D �!=G;�� D � 25= > @ 3<% � � _ � J � � E J A�T�V n v`2�2��xq % 2 �xv#2�2�v J
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